Physics : Section-A (Q. No. 001 to 035)

1 The work functions of Caesium (Cs), Potassium
(K) and Sodium (Na) are 2.14eV, 2.30 eV and
2.75 eV respectively. If incident electromagnetic
radiation has an incident energy of 2.20eV,
which of these photosensitive surfaces may emit

photoelectrons?

(1) Na only (2) Cs only

(3¥ Both Na and K (4) K only

The net magnetic flux through any closed surface

is :

€)) Negative

3 Positive

3 If the galvano
deflection in the
given by :

(2) Zero
O] Infinity
not show any

meter G does :
the value of R1s

circuit shown,

400Q

| 1) 4002 (@ 12333
| @ 09 A
v, 60 W lamp ;s connected to the se:condar.y
4 ?flj st’ep down transformer, whose primary is
connected t0 a€ mains of 220 V. Assuming the-
transformer to be ideal, what is the current 1n
L'A_ "y the primary winding? '
¢) 037A 027A
(3) 27A ) 37A

/5  Afull wave rectifier circuit consists of two p-n

.} K junction diodes, a centre-tapped transformer,
' capacitor and a load resistance. Which of these

components remove the ac ripple from the
rectified output?

(1) Load resistance

(2) A centre-tapped transformer

@) p-n junction diodes

(4) Capacitor

6  In a plane electromagnetic wave travelling in
free space, the electric field component oscillates

sinusoidally at a frequency of 2.0x10'°Hz and

amplitude 48Vm~. Then the amplitude of

oscillating magnetic field is : (Speed of light in
free space = 3 x 108 ms7!)

(D 16x10°T (2 1.6x107°T
(3) 1.6x1078T (4) 16x107T
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is the critica
104,
—

(I)JSi"—l(‘t2 '

[ f
_ ]0’2 Sin—_l ’L—)
(3) sin S “) 104

A2
@ sin | 7

placed at a0 angle of 300 | 9

5o 1
i i i 10°NC -

i ric field of intensity 2X
e elecs a torque equal to 4 N m. Calculate

t experience ‘ C
:h:x;:lgnitude of charge on the dipole, if the

dipole length is 2 cm-
(1) 2mC
a7 6mC
Let a wire be suspended from the ceiling (rigid
support) and stretched by a weight ¥ attached
at its free end. The longitudinal stress at any
point of cross-sectional area 4 of the wire is :

@ w4 ) W/24

9  An electric dipole is

10
10

In hydrogen spectrum, the shortest wavelength .

in the Balmer serjes j
; s A. The
(v;;ve:znlgth in the Bracket series is - shortes!
2 2a
4
Of 0 4 9

The tem
pératuy . ,
temperature there of a gas is —50° C. To what

- 1€ gas should be h
m 5 4]
(])s s;;e;t}( is increased by 3 ti::::{;i so that the
(3) 32950 ¢ 22) 669° C
4) 3097 K
A football

layer is- . d
sud Player is ‘moving southward an
denly tuns eastward with the same speed to

avoid
?layeranhopponem‘ The force that acts on the
1)

12 12

13 13

Wwhile turning is :
along south-west <
along eastward «
along northward
along north-east

0))
(3)
(4)
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15

(2) Both Statement I and Statement II ﬁ;
correct. "a“‘x:‘f

(3) Both Statement I and Statement II ‘té
incorrect. o

(43 Statement I is correct but Statement H 4§
incorrect. -

IQ If c_fzc}g‘ =0 over a surface, then-: e

18

19

16

(1) thg‘electric field inside the surface (&}

)
(3) the magnitude of electric field on t?fj

(4)

Resistance of a carbon resistor determined from
colour codes is (22000 + 5%) Q. The colour;'%‘l‘

third band must be : {'T}
(1) Yellow (2) Red S
3) Green (4) Orange ()

The ra}i'o of frequencies of fundame
harmonic produced by an open pipe to that
b

closed pipe having the same length is:
(1) 3:1 2) 1:2
Sr 2:1 @ 1:3

The angular acceleration of a body, moving al&‘i )
the circumference of a circle, is : |‘""g§

(1) along the axis of rotation

2) along the radius, away from centre
(3) along the radius towards the centre
(4) along the tangent to its position

el

98

Given below are two statements: P
Sta_tement I : Photovoltaic devices can conv
optical radiation into electricity. ﬁx‘
VStatement II : Zener diode is designed to operZ‘tél
under reverse bias in breakdown region. L}
In the light of the above statements, choose the:
most appropriate answer from the options given
below :
@)) Statement I is incorrect but Statement T¥
1s correct.

7

necessarily uniform. o

the number of flux lines entering the surfagh
must be equal to the number of flux lings;

leaving it. .

surface is constant. ‘ o
all the charges must necessarily be inside

the surface. oo

The magnetic energy stored in an inductorfof
inductance 4 pH carrying a current of 2 A is :
(1) 8plJ @ 4wl
(3) 4ml (4) 8mlJ
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circdit, the inductance Lis |20
20 5 i Cis 10F and resistance®

is 100Q e frequency at which resonance
occurs is :
&;; 15.9 kHz 1.59 rad/s ‘ m
21 The magnitude and direction of the c_urrent in @i\
the following circuit is oo
2Q v 5V 10 . N
A I )
D c -
70
(1) 1.5A from Bto A through E
@) 02A from B to 4 through E o0
.43) 0.5 A from 4 to B through E {5,‘
0)) g A from 4 to B through E s
22  The minimum wavelength of X-rays produced o
by an electron accelerated through a potential —
difference of V volts is. proportional to: :xéi
@ 7 @ ' |
1 1
3 7 S OR 7 o O v
23  The errors in the measurement which arise due |&% 3 1
t,c; ﬁ;lg;eglil;t;lbyle alf:feuc.:tuations in temperature and Q’;k G v 4) :/'-7
(1) Random errors: ﬁ% S .
42) Instrumental errors nd E < ¥ S AR T B A
(3) Personal errors w A ¥ e ¥
(4) Least count errors ?‘“” ¢)) ‘J@P‘Eﬁ iﬁ"ﬁ
24 For Young’s double slit experiment, two (2) o et
statements are given below: A ?3) 3 | Crbi 3&1{“{'
Statement I : If screen is moved away from th 4) SaaH® FreAl
plane of slits, angular separation of the fringe: co &
remains constan
Statemetli.t' 23 W%Wm%mﬂwﬂﬁmﬁ%
nt II : If the monochromatic source i e i s &, < B
replaced by another monochromatic sour = lif w1 : o T el & i |
la.rger wavelength, the angular se rce o N H1 B qriferr Fad <&t 1 et
{rmges decreases. paraIen of |  Fwmu:a® awadtt A 71 Fodl T : 7 AN
n the ligh ‘ : 3, Bt
correct gnz\ggrthf:oﬂzot;;z S;att?mentg, Siokiag K {;i a; m‘fﬁ A ™ ;
(1) Statement I is false Il)alllcthStgwen i apie S ¥ 3, A i fr i
Py atement II is v Fa ®
A2) Both Statement I and Statement II are |CO Sxii- I s A ¥
3 true. »\‘ 1) oA 1 az?ﬁnaﬂil-
) g?th Statement I and Statement II are {fm ) 32 as: Ila w1 aﬂ:\:’;ﬂ "
S€. ¥ [ &b .
: , | 3 F
4) ?t:ltement 1 is true but Statement I is |5 4) C X § [Contd
alse. -
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(3) 3uF

A bu
et is fi
ms-1 ; om a gun
. in ) at the speed of
horizonta). Thethe direction 30° Zbave Hio
Mmaximum height attained by the

bullet g (g:
y 9.8 ms™2, sin 30°= 0.5) :
(1) 3000 -

@Y 2000 m (2) 2800 m

(4) 1000 m

A ;

itsC::::: een.gme: has an efficiency of 50

te is at a temperature 327°
mperature of the sink is :

(1) 200° C @) 27°C

(3) 15°C 4 100°C

9 when
C. The

form a s03p bubble

The amount of energy required t© ]
jution is nearty ’

of radius 2 cm from a soap 5O .
(surface tension of soap solution = 0.0#34 Nm)
» 50.1x1074J @) 30.16x10 J
(3) 5.06x1074J 4) 3.01x1074
dioactive substance is

The half life of a ra Al
e, the activity of

20 minutes. In how much tim

1A - .
substance drops 10 (TE) of its initial value?

2) 20 minutes

(1) 80 minutes
4) 60 minutes

£ 40 minutes

The potential energy of a long spring when

stretched by 2 cm is U. If the spring is stretched
by 8 cm, potential energy stored in it will be :
(1) 16U 2) 2U
(3) 4U 4) 8U

The equivalent capacitance of the system shown

in the following circuit is :

3uF

s

(2} 2 uF
(}’) 6 uF

(1) 9uF
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31 A vehicle travels half the distance with speed
O and the remaining distance with speed 290 .

Its average speed js:

ay 3°
Iy

)

49
4) 3

29
(}9"7

32 The ratio of radius of

gyration of a solid sphere
of mass s and radiu

s R about its own axis to
the radius of gyration of the thin hollo.w §phere
O same magg and radius about its axis is :
1) 5.2

() 3:5
A3 5.3 @ 2:5

33 Two bodies of mass m and 9m are placed at a
distance g The gravitational potentlal. or}‘the
line Joining the bodies where the gravitational

field €quals zero, will be (G = gravitational
Constant) :

_20Gm

% -

8Gm
D s

R
12Gm 16 Gm
NGRS -c

ye)

The venturi-meter works on -

(1) The principle of

Perpendicular axes
2 Huygen’s Princip

le
(3) Bernoy]jj’g prificiple
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| Physics : Section-B (Q. No. 036 to 050)

36

The radius of inner most orbit of hydrogen atom

is 5310711 m. What is the radius of third

allowed orbit of hydrogen atom?

(1) 477A 2) 053A

) 106A

The resistanc
and 6.8Q at 80°C. The temperd
of resistance of the wire is
1) 3x1071 °C!

) 3x1073 °C”! (4) 31
The net impedance of circuit (as shoWn in
will be :

@) 159A

37 e of platinum wire at

38

220 V, 50 Hz

gV 1042 @

() 259
@) 552

3) 159

For the following logic circuit, th

39

o =
O'—“QQ-—.—-._.“

11

—
—
—

of resis

10 resistors, each
ery of em

in series to 2 batt
internal resistance.

40 .

41
ing on the fl
The coefficient

body and the floor

car so that a body ly
remains stationary:

friction between the

(g=10ms™ ).

@) soms” @
(3) 150ms> 4)
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12ms™2

1.5ms’2

0°C is 20
ture coefficient

e truth table is:

tance R are connected
f E and negligible
Then those aré connected in

;v(}’] 100

Calculate the maximum acceleration of 2 moving
oor of the car

of static

is 0.15
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% () =gz 8
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N 6) _Ems? T oms” ( ° _——
S 43 A satelliie is orbiting just a1b60ve the surfac® of 3 ‘. & i :\:{Tg Qﬁ aﬁ@%ﬁ—:;ﬁa d
a the earth with period T. Ifdis theI density Of; ﬂ“} - % oy ‘ 3n
_earth and G is ‘the universa constan o : e W@ﬁﬂ[ Pradi®
W e L3 - i e
- gravitation, the quantity Gz represents - - el FH §
(;) JZ‘_ ) T3 )) ﬁ ) T
&4 44 (A)verz;' long conduct{l;(}g‘q wirlc; ijs bent in 2 semi- | 44 S;)MHT;,; ¥ FFER (4;@Tm3
8)) circular shape from A to B as shown in figure. ) m@ : w4 a5
s The magnetic ﬁelq at point P for steady current A NN ¥ A T ¥ Rt =TT
o configuration 15 .glven by : e % fog fag P W CERE
A i—> ; i—> '
W A
bt
_____ ¢
B
; E‘O_l 2 )
0 (1) 7R [1—;} pointed into the page ) Bot 1_2 .
N i ol 12| g & v AT
oS R pointed into the page @ Kol
o ey ~ ) A F areT B AN
o] e iR pointed away from the page ol
) 0
h@ﬁm (4)E¢|_Z ' 3) A q T B A
AFE 4| | pointed away from page woi[ |2
no[ ¥ i 45 In the figure shown h . 4 PO 1= o= [ del E T
4
ot ¥ focal length of fhe c what is the equivalent s <o Fa T
0 (Assume that all layer: (;‘;:’btlll:'anon of lenses 45 Team ™ ¥, A & it T
o | e o ot
ST ﬁg =
" = 2R =R, =20
- Eae i e | cm
: 0-‘%‘?‘? 223\Ry =S i
T m=le— =
‘ (1) -50
\ Y = <m (2) 40 cm
40 cm (4) —100 cm
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but one i

When thleS convex and the other one is concave.

the equivylare placed in contact with each other,
alent focal length of the combination

will be :
(1) Infinite )
) Zero
3) f/4 @) fJ2 s

47 : :
A wire carrying a current  along the positive

x-axis has length L. It is kept in a magnetic field

e d A A X

B=(2i+3j-4k) T. The magnitude of the
magnetic force acting on the wire is :

(1) BI @) 3IL

(B) I 4) SIL
n a rectanguiar

48 A bullet from a gun is fired o
wooden block with velocity u. When bullet
travels 24 cm through the block along its length
u
—. Then

horizontally, velocity of bullet becomes =

it further penetrates into the block in the same
o rest exactly at the

direction before coming t

. other end of the block. The total length of the
block is : ,
(1) 30 cm
(3) 24cm (4). 28 cm

49 An electric dipole is placed as shown in the figure.

5 cm P

.______—-?——-—"'—“ [ ]
—q<——-——-><——-———>+q

3cm 3cm
The electric potential (in 102 V) at point P due

to the dipole is ( eO=permittivity of free space
1

d‘ = .
an 4r e K)

olie o[

5 8
Y%y (-g)qK “) (g] aK
50 A horizontal bridge is built across a river. A

student standing on the bridge throws a small

ball vertically upwards with a velocity 4 m s71.

Th.e ball strikes the water surface after 4s. The
height of bridge above water surface is

(Take g=10m s"2) :
(1) 68m (2) 56m
(3) 60m (4) 64m

48

(2) 27 cm 49

50
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(1) 30 cm (2) 27 cm

(3) 24 cm (4) 28 cm
qm%ngﬂﬁigaﬁﬂﬁwfﬁh%lﬁdﬂaﬁmﬁ@
p ¥ frga = 102V #) ¥ (=TT ST &

1 :
Fggaefiern ad Iﬂ—E—O-—K) :

5cm
0 - o
- ' —a

3 cm 3cm

8

M (3) Gk ) (—38-) K
5

o Fx (3)x

@ﬁ“@aﬁﬁgﬁmwilgﬁﬂw
T B 4ms’1$aﬂ@(q$g‘r&ﬂzwﬂw
waﬁaﬂxmmswﬁzmwﬂ

mﬁ%rmﬁﬁmgwaﬂﬂmi

(g= 10 m s"ZA trhﬁﬂq) .
(1) 68m (2) 56m
(3) 60m (4) 64m
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Lchemistry : Section-A (Q. No. 0@

51 ne of the

. ‘ 1
Taking stability as the factor, which 0 5

following represents correct relationship?
(1) TII > Tin, (2) TICly > TICI

(3> Inly > Inl (4) AICI > AlCl3

52 Identify the product in the following reaction :

4+
N2 Cl1
(i) CUZBTZ/I'{BI'

(ii) Mg/dry ether o product

(iii) HyO

OH OH
\W ©

MgBr

(1)

B

The given compound

CH=CH- (IIH - CH, CH,

kg™

4)

53

X

is an example of '
A vinylic halide  (2) benzylic halide
(4) allylic halide

3) aryl halide

54  In Lassaigne’s extract of an organic compound,

both nitrogen and sulphur are present, which
gives blood red colour with Fe3* due to the
formation of -

(1) [Fe(seN)]**

£ Fe,[Fe(CN)] - xH,;0
(3) NaSCN |

MgBr
3) © 4)
53 e ™ At
CH=CH- C\H - CH, CH,
X.

1 TH SAE ¥

54

4) [Fe(CN)SNOST—
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Given below are two statements : one is labelled
as Assertion A and the other is labelled as
Reason R -

Assertion A : A reaction can have zero activation
energy.

Reasons R : The minimum extra amount of
energy absorbed by reactant molecules so that
their energy becomes equal to threshold value,
is called activation energy.

In the light of the above statements, choose the
coprect answer from the options given below :

) A is false but R is true.
(2) Both A and R are true and R is the correct
explanation of A.
& Both A and R are true and R is NOT the
correct explanation of A.
(4) A is true but R is false.

The right option for the mass of CO, produced
by heating 20 g of 20% pure limestone is
(Atomic mass of Ca = 40)

[CaCO3—M>CaO+C02J |
(1) 132¢ @ li2g
¥ 176 ¢ 4) 264

Complete the following reaction :
OH
o —HEN
CN
(A (B]

conc, stO 4
A

—[C]
[C] is

w @m
(2 QOH
3) QCOOH
o) @—CHO

12
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oo R fafvea feean T el
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g’rm,aﬁmwwimﬁﬁ

ﬂmmmﬁ%ww,ﬁ%ﬁ‘!ﬂqﬁw

ﬁéaﬁwggﬁg: S

1) AEd ¥ 99 [

8 A 3t R aFT @ & ot R, A & 98 =gy
¥l .

(3) A @it R @@ &, 7 R, A &1 @&
T B

(4) A @@ %, wg R a@d ¥

20% Y& I TR FH 20 g B TH T A G
COZ%W%maﬁﬁw%:(Cawm@
I = 40 3))

| caco, 200K, Ca0+CO0, |

(1) ) 1.12¢g

3) (4) 264¢

Frfefea siffear @ g1 S :

132¢g
1.76 g

" 0 —HCN ,OH
CN
[B]

(Al '

i, H,S0,
A

>[C]
[C] % -

(1) @500011
(3) QC%H
4) @CHO
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Given below are two statements : i,
Statement I : A unit formed by the attachme

1 as
of a base to 1' position of sugar is known
nucleoside

Statement I1 : When nucleoside is linked to

Phosphorous acid at 5 '-position of sugar moiety,

e ¥ ]
' ST R T HER ¥ et uT AR Ry Wy fasmea
We get nucleotide. " fom
In the light of the above statements, choose t e. PPN gfm)
correct answer from the options given below : St

(1) Statement I is false but Statement I is true.

(1) = I o@d ¥ g s I w3
+2)” Both Statement I and Statement II are true.

() FW I AR F@ I A 7 ¥

{ T ¥\
(3) Both Statement I and Statement II are false. () w1 Em.n o 11 s = ¥\
(4) Statement I is true but Statement I is false. 4) F I 9a ¥ aig FW
: ; B
5 A d is formed by two elements A and | o A A T A T B BT T gan B\ T
B.c'(l)';l:o el:relm;t (;Brmfeonnz cubic close packed = S:“q . W T S M A% ATH
oructure and atoms of e eary L3 o 13 g flrl A o ¥ afk A o g
tetrahedral voids. If the formula o € compoun O )
is A,B,, then the value of X+y is in option ABy B/ famell A A x+y = W™ B
a 2 w2y’ s (1) 2 @ s
3) 4 4 3 @3) 4 @ 3
© 60 The stability of Cu2* is more than Cu* salts in | 60 o ey Cu2t TN W T Cu* wam
aqueous solution due to - A ot h‘?ﬁi%ﬁ % B B T
‘g; :‘eut)rfd i.onilsation telzlntlhalpy. ‘ 1) Sw T Ty
Irst ionisation enthalpy, 5 AT e
3) enthalpy of atomization, 2) e : T
(4) hydration energy. B) = T
) SwEem T
61  Martch List - T with List- 171 -
List - 1 List - 11 61 ?ﬁh-lm@-n%muhanaﬁ\ﬁrqn
A. Coke }(. Carbon atomg are ™-1 ™-1I
sp* hybridis d. A.
B. Diamong /11 4 dy e £ L o6 e B
/o 1§_asadry sp> W 2R ¥
/ ubricant '
C. Fullerepe / H} Used as 5 B. ¥ | I g% ﬁ%ai;mm N
H IuEm S
D. Gt reducing agent c ' T SIqarE ® SR
- Qraphitg V. Cage like S K A ikt
moleculeg ; Risroegen
C.hoose the correct answer from the ti D. Sz ™ - !
given beloy - Options TR Ru T fee ¥ ¥ v s ghe:
(1) A-l1, B-1v, c1, D-11 " (1) A-IL B-V, C-L, D-II
) A, B-IV, C.1, ppy (2) A-L B-IV, C, D-llIIIl
<O AW BY, o pg | Py
- A-I“, B-L C-IV, D-I1 . (4) A-L, B, G-V, [ Contd...
GG\HindHEnglish |
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62  Given below are two statements : one is labelled
as Assertion A and the other is labelled as

Reason R :
Assertion A : Helium is used to dilute oxygen

in diving apparatus.

Reasons R : Helium has high solubility in O,.
In the light of the above statements, choose the
correct answer from the options given below :
(1) A is false but R is true.

(2) Both A and R are true and R is the correct

explanation of A.
J3) Both A and R are true and R is NOT the

correct explanation of A.
(4) A is true but R is false.

63  Some tranquilizers are listed below. Which one
from the following belongs to barbiturates?
(1) Veronal (2) Chlordiazepoxide
(37" Meprobamate (4) Valium

64  Which of the following statements are NOT

correct?
A. Hydrogen is used to reduce heavy metal

oxides to metals.
Heavy water is used to study reaction

B.
- mechanism.

C. Hydrogen is used to make saturated fats

D

from oils.
The H-H bond dissociation enthalpy is
lowest as compared to a single bond
between two atoms of any element.

E. Hydrogen reduces oxides of metals that are
more active than iron.

Choose the most appropriate answer from the

options given below :

(1) A,B,Conly (2 B, C, D, E only

3 B, D only (4) D, E only

65  Fora certain reaction, the rate = k[A]2 [B], when
the initial concentration of A is tripled keeping
concentration of B constant, the initial rate would
(1Y increase by a factor of three. 5 **

(2) decrease by a factor of nine. « X
() increase by a factor of six.~
(4) increase by a factor of nine.

66  Which one is an example of heterogenous
catalysis?

(1) Combination between dinitrogen and
dihydrogen to form ammonia in the
presence of finely divided iron.

(2) Oxidation of sulphur dioxide into sulphur
trioxide in the presence of oxides of nitrogen.

(3) Hydrolysis of sugar catalysed by H* ions.

(#) Decomposition of ozone in presence of
nitrogen monoxide.

62

63

64

65

66
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A @ e fog ¥ o A A o g
@ ‘s R’ fafea fear g w
Ao A @ TArE % ST ¥ e
STt B qg T & 0 ST gy g ¥
mR:WﬁOzﬁﬁﬁﬁqﬁw%%l
mﬁqwmﬁ%mﬂ,ﬁﬁqm%
¥ ¥ Wl saC g

(1) A a@a ¥ 9ig R 8 &)

®) AaﬂTRaﬁfHﬁT%aﬁTR,Aﬁqa%

2
3) Aai%’{Ra‘ﬁ’fW%‘,q’i@R,Aa%w%
@ ¥
(4) Awa ¥ uig R @A ¥
ﬁwuaﬁ@?mw%lsﬂﬁamﬂ

9 4 Gafta ¥ 7
(1) ¥ (2) T
(3) A=A (4) Afwam

frefafag & & B-9 U TE T 7

A. TSI HT SYAIT | UG SRSt H angg
¥ omufad & & fg e wmar ®)

B. i 5 ol SudiT stfuichar fratafy & ey
% fora fepam wim 2

D. T ot o & & TS & T T ey
& gon § H-H omay foaem oded

B B
E. ®ERvH ST 4 oy fransiia aget &

(1) ¥a@ A, B,C (2) %aw B, C, D, E
(3) %@ B, D (4) ¥&w D, E

fepdy fafdrse arfufspar & fog,
€|1T=k[A]2[B] ¥\ 59 B @) Gigdr & Rew @
mAﬁwﬁﬁmmeﬁﬁwaﬁwﬁr%jmﬁw

Cq -

(1) @9 & % &R 9% Sl
(2) & TR g uZ
(3) ®: & U T g S|
(4) & T FTW T YW

Ry & @ F—a1 Rrogid geRe & S

%7

(1) qﬁ?qﬁamﬁaﬁwﬁaﬁﬁa{m_“ﬁ
35 o STEFTEgI ot sgeTEgtor 3 4 €4

(2) EEeE % ongarel @ eurafd e
mmmwmmﬁw

(3) s&T & H' ot g s 9@ M‘q”z‘

(4) e ArEEEe @ aRafi 7 A
YT

[ Contd-



67  Which one of the following statements is

correct?

oy
)

Mg plays roles in neuromuscular function
and interneuronal transmission,

The daily requirement of Mg and Ca in the
human body is estimated to be 02 - 03 g
All enzymes that utilise ATP in

transfer require Ca as the cofactor,

The bone in human body is an inert and
unchanging substance.

3) phosphate
@)

Weight (g) of two moles of the organic
compound, which is obtained by heating sodium
ethanoate with sodium hydroxide in presence of
calcium oxide is -

M) 18 ) 16

3) 32 4) 30

69  The element €xpected to form largest jon to
achieve the nearest noble gas configuration is :
{1) Na @ o '
S F @ N
70 The correct ord

er of ener
orbitals of N, m

gies of molecular
olecule, is -

(1) ols<c®Is<g25 <o 2s <I(n2px =7t2py)<

* * "
(1: 2p, =q 2py)<c2pz< S 2p,

y)<\® 2p, =g Zpy)<cr 2p,
“4) Cls<g Is<o2s5<q 2s<o2p. <
2pz<(1t2p =n2py)<(nf2p —n*2py)
n

. Complex fropm the following
r.ninetriaquachromi'um (IIT) chloride
9tassnum trioxalatoaluminate an
lamminechloridonitrito - N - platinum (I1)
Pentaammin

ecarbonatocobalt (111) chloride
GG__Hindi+Eng|ish 1

B Triam
(2) p

(4)

67

68

69

70

71

15

e woi ¥ @ B9 w@ 22

() Mg dmqitam A srymey ofx
SAeitrD duw ¥ v o 3

(2) W& i ¥ Mg ot Ca @ 4 sragamar
02-03 g s & 8 %) -

(3) mq’wﬁvﬁ'ﬁmwﬁmﬁMPm
wm%,%%{qm~m%wﬁCa
SRR

(4) war&rﬁﬁg‘rwmahmﬁaﬁqaﬁa
e ¥ -

%%\quqaﬁmsaﬁmﬁaﬁﬁm

@ri%mmﬁamg%maww

WS T BN B, S @ Hyey

WA )

) ocls<g* Is<e25s<g* 2s<(n2px =1t2py)<

G2p, < (Tt* 2p, =7 2py) <c* 2p,
B®) oi1s<¢* Is<625<c” 25<02p, <

(RZPX =7 21)3/)<(1t"2px =1r,*2py)<c* 2p,
4) cls<o*ls<o2s<c’ 2s<o2p, <

c" 2p, <(1'|:2px =1t2py)<(1t"‘2px =ﬂ*zpy)

; e
Preffan el § ¥ SmwRes dgw
) m@%ﬁw(m)m




72

73

74

Intermolecular forces are forces of attraction ar.ll(:
repulsion between interacting particles that wi
-include :

A< dipole - dipole forces.

B. dipole - induced dipole forces.
C.
D.

E. dispersion forces.

hydrogen bonding.
covalent bpnding.

Choose the most appropriate answer from the
options given below :

()ﬁ/ A, C, D, E are correct.
(2) B, C, D, E are correct.

) A B, C, D are correct.

(4) A, B, C, E are correct.

The number of & bonds, 7 bonds and lone pair
of electrons in pyridine, respectively are :

(1) 12,2, 1

D 11,2, 0

(3) 12,3,0 4) 11, 3,1

Select the correct statements from the
following :
A.  Atoms of all elements are composed of two
fundamental particles,
B. The mass of the electron is
9.10939 x 10-31 kg,
C. All the isotopes of a given element show
same chemical properties,

Protons and electrons are collectively
known as nucleons.

E. Dalton’s atomic theory, regarded the atom
as an ultimate particle of matter.

Choose the correct answer from the options
given below -

M B, C and E only

&) A/Band C only
G) CDand E only
(4) Aand E only

G6_Hindi+English ]
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72

73

74

mmwmmmmﬁ
WWW%%W%%
B ¥

iy,

() A, C D, Ewdg
2 B,C,D, Ewar ¥
G) A, B, C, D ¥
(4) A B, C Ewdg

R & C e g Gﬂﬁ"a’faﬂ‘(sﬁaﬁf%
wwiﬁﬂm ¢ T, ¥

(1 12, 2. 1 2 11,2, 0

3) 12,3 0 4 11, 3, 1

ﬁaﬁiﬁqaﬁﬁﬂamﬁmw%m
A. mi’raa’f%wma‘riﬁwgmaﬁﬁ%l

B. w®M & g 9.10939 x 10731 kg gy
¥l

C. T o % oy W T e
Wi & ¥

D. W@Tﬁ'ﬂﬁﬁmm%qﬁw‘w
e ¥

B 317 % womy g 3 ey 3 g & o
& & B F 7

%ﬁqmﬁmw‘fﬁ@rﬂﬁmgﬁq:
(1) %% B, C oix E

(2) @a@ A, B ol C

() %@ C, D aix E

(4) %@ A ofix E

[ Contd-



15 Identify product (A) in the following reaction -

Zn-Hg M.0
conc. o1 (A) +2H,

CH.
1 73
; U/Qcm

76

€ statem,
m the Optio
is trye,

oth A apg R are trye and R is the correct
€Xplanatio of A.

) Both A and R
correct explan

4) A true but

ents, choosge the
NS given below -

are true and
ation of A

R is false,

R is NOT the

G6__Hilldi+Eng“sh ]
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ﬁwrw@amﬁmﬁm(mﬁml

: G @
mR:%w—wmﬁiﬁAr
AR o ¥ PR
Wﬁqmmaﬂ‘f%wmv,ﬁaﬁqw :
" ¥ W T g

B A T e o
2) A &R R & e
( ¥ . %WR’AQ&WPI.

3) AdRRIMEAE,

( W@ & e B o
4 AW%W [Conl-




77 Which amongst the following options is correct | 77 P & ¥ SF-81 Siaw & P & TR g,

graphical representation of Boyle’s Law? - freaur &7
N Vi v, T i V2
T " \ >
P P
(1) (1)
V1 <V,<V3 Vi <Vy<Vs
. -3
T—> T—>
N
0 {
T T3> 1> Ty T 7T
P
P
T ; T
T 2
T} LN
3 . 7
—
v—> — v

3)

4\
T T3>T2>Tl
T.>T,>T
1 S P |
P
)] T
@) T3 a
T, Ty
T] 4_>
lv__;
%] 5

18 | Cont”
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78  The relation between ny,, (N = the num

: mber
permissible values of magnetic quantum e
(m)) for a given value of azimu
number (7), is

thal quantum

-1

n
() n_ =l+2 ) I=—“‘2—-

2

3) I=2n_+1 @) n,=2 +1 -
79  The conductivity of centimolar solution of KS;

at 25°C is 0.0210 ohm~! cm™! and the resns‘t’an _

of the cell containing the solution at 25°C 1s

60 ohm. The value of cell constant lls -

(1) 3.34 cm™! 2) 134 om”

(37 3.28 cm™! (4) 1.26 cm™ 80

80 Consider the following reaction and identify the
product (P).

CH, -CH —c|:1-1 —CH,
! __HBr_, product (P)
CH, OH ro
3 — Methylbutan— 2 —ol
T
(1) CH,4 —,C—CHz Br
CH,
Br
|
2) CH3 —?—CH2 —CH3

CH,

(3) CH;CH=CH-CH,

|
CH3 Br

81 Which amon

st th :
polymerizati & ¢ following molecules on | 81

on produces neoprene?

CH,

(1 |
) HZCZC_CH:CHz
4T H,C=CH-cH=cH,
C\l
(3) H2C =C-= CH =CH2

G6\Hindi+Eng\'\sh 1 19

frtea T T g (m) P SETE T
(1) nm=i+? @ 1="’E—2_ 1
@y 1=20m*! & "';;:{ ;' I
asoc ¢ KO 8 SIG5 50 e fort
002109(;;—@;“13 S 1 iq::_fﬁ[
o aﬂ_34 cm™! @) 1.36 o=
8; 3.28 com™! @ 12 P
e ifsfean o T BT
@ veAd !
CH3_(le—(I:H—CH3 _HBr , gaw (P)

CH, OH
3 — Afymege—2 — oA

CH,

. I
(1) CH, —(\Z—CHZ Br

CH,

Br-
\

(2) CH, —(\:_ CH, - CH,

CH,

(3) CH;CH=CH -CH,

(4) CH;-CH-CH-CH,

|
CH3 Br

o fraii
ﬁmﬁhﬁ%ﬁﬁ—mwﬁ“ﬁ
IT HOW ?

|
(1) H,c=C-C
(2) H,C=CH-

(3) HC

Cl
|

C=CH’C

H=CH;
CH = CHz




o BT
oy g @ 7 T ST Ty
82 fefad AT A T h
Amo.“SSt the following, the total qumber of | 82 ¥ i A7
species NOT having eight electrons around q) Ny pCl
central atom in its outer most shell, is a# ¥ 2 peClz’ cCly "
] L ]
NH, AIC,, BeCl,, CCl,, PCl; NHy AT @ 3
() 1 2) 3 ) ! Q)] 4
g fa@*
83  Amongst the given options which of t'he 83 fed 28} sl &7
following molecules / ion acts as 2 Lewis acid? aw st 2 NH;
(1) OH- @) NH; &) ", (4) BF;
(3) H,0 4) BF; 3 2
g ¥1TEH cafimer A’ ST g

84  Given below are two statements : ON¢ is labelled 84 ,
as Assertion A and the other 15 labelled aS a1 w R <ifsam i ¥ gy
Reason R : . WMA:W s o o N
Assertion A : Metallic sodium dissolves in llquld ey A T a1 fa@d CURE i #
ammonia giving a deep blue solution, which 15 w1 R 2 T e @ e T & Fy
paramagnetic.
. to 2ar 2l :
Reasons R : The deep blue solution 15 due _ & T T 3 R T P
the formation of amide: . ¢ fag ™ il .
In the light of the above statements, cho0s€ the ¥ g @@ I
correct answer from the options given below : (1) A o & 9 R 9@ &
Q) A oif¢ R 3 & 8 it R, A I T8 e

(1) A is false but R is true.
d R is the correct 3
‘r { A ﬁ Eﬁ 2(Exl

(2) Both Aand Rare true an
explanation of A. )
R,
(3) Both A and R are true but R is NOT the 3) A@T R 3Ff 9 &, TG
correct explanation of A. T ¥
4) A@a ¥ g R A i

(4) A istrue but R is false.

85  Which of the following reactions will NOT give | 85
afrs O @ 7

primary amine as the product?

1) CH.CO (i) LiAlH4
( ) 3 NHZ W Product (1) CH CONH (i) LlAIH4
3 2 (ii)H30®
Br, /KO,
(2) CH, CONH, _ By /KOH , product 5 Br, / KOH
(i) LIAIH ? . CONH2 - ™
3) C e
3) H3CNW Product -
(3) CH3CN (1) LiAlH 4
(4) (i) LIAIH S
CH;NC W Product _
(4) CH,NC —WLAH, | e
(ij)H30®

6_Hindi+English | "
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Chemistry : Section-B (Q. No. 086 to 100) |

Which of the following statements are
INCORRECT?

A.

86 86

Prefafan § § S wow o T@ 22

A. &Em F it o gwew agd MO
HFEES TR ¥ N ot o) )

B. Wy Tom % wn Somaw st o Sre Seee
' g, FFEE ¥ Sc,05 & Mn, 0 3 wre By
i4

C. V5038 V,0, % V,04 ® @R o WX @t
AEH TEAT B\

All the transition metals except scandium
form MO oxides which are ionic.

B. The highest oxidation number

corresponding to the group number in
transition metal oxides is attained in Sc,04
to Mn,O,.

C. Basic character increases from V503 to
V204 to V205.

D.  V,0, dissolves in acids to give VO3 salts.

E. CrO is basic but Cr,05 is amphoteric.
Choose the correct answer from the options
given below :

(1) Band C only
(3) B and D only

D. V0, o=t ¥ gt VO, wam m ¥\
E. CrO &il@ ¥ ™t Cr,0, swamdt ¥\
%mmmﬁ%mwmt

1) T B AXC (2) *aw A R E
B) S BIAIXD (4) = C sk D

87 fFretafaa sitviem ot REr @t

Craen S o

AR A 3T B @ wwait)

?) A=®CH3WB=®OH
3) A=®—CH2OH@TB=®*I
(4) A=®CH21WB=®OH

(2) A and E only
(4) C and D only
Consider the following reaction :

@-cﬁz—o~®%A+B

Identify products A and B.

87

4) A= @—(:HZI and B=®— OH

3) A=

. g e aﬁ(
88  Which amongst the following options is the | 88  Fretivfas fawwdt ¥ @;@‘;“a:;ma, < 37
correct relation between change in enthalpy and T SHel arE
change in internal energy? (1) AH+AU=AnR
(1) AH+AU=AnR (2) AH=AU- An RT
(2) AH=AU - An gRT (3) AH=AU+ An RT
T
(3) AH = AU +AngRT (4) AH—AU=~AnRﬁ@ﬁ(WM
(4) AH - AU =— AnRT 5y v T AT W‘W%?
' “ .| 80 fec 1 fepaet .
89  What fraction of one.edge centred octahedra fefert 3 1 @ 3
void lies in one unit cell of fcc? D = : 1
. 1 12 (4) 4 Contd'“
I = @ = L !
12 2 3) 3
1 -~
3) ‘3 @ 3

G6_Hindi+English |
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,»‘i]/ o

Given be

*Clow are
tatement | , Thet,‘,w0 Statements .
lead

correct answer fro
1

()
3)

C))

L)

utr

to eutroph; tent deficient water bodies

: Eutrophication le

OXygen in the w.
he above state
om the op
is incorre

ads to decrease
ater bodjes,

“ments, choose the
tions given below -

Stat
Statement I ct but Statement I

1S true.

goth Statement I and Statement IT are true.
fa(])stg Statement I and Statement II are

Statement I is correct but Statement II is
false.

Whif:h amongst the following will be most
readily dehydrated under acidic conditions ?

M
©))

“)

Ol
OH
/k/'\cﬂ3
H

NO,
H
NO,

OH OH

3) Hsc/i\/k

N

0
’H
~ oH
OH

Match List - I with List- II :
List - I (Oxoacids
of Sulphur)

A. Peroxodisul- I
phuric acid
B. Sulphuric acid
C. Pyrosulphuric
acid

D. Sulphurous acid V. Two S-OH, Two S=O

List - II (Bonds)

Two S-OH, Four S=0,
One S-O-S

1. Two S-OH, One S=O

I11. Two S-OH, Four S=0,

One S-0-0O-S

Choose the correct answer from the options
given below :

(1) A-IIL, B-1V, C-1I, D-I

(2) A-l, B, C-II, D-IV

(3) A-l, B-1V, C-I, D-lI

(4) A-l, B, C-1V, D-lI

G6_Hindi+English ]
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90

91

92

;ﬁa’?«'\fﬁiﬂ?ﬁqm%:
ml:ﬁwr&amﬁmémmt
FE I : gaww § sre-Frat § sy,
T ¥ My
HUR g Mg Hye B mE X AR

X % wh o g R

(1) = I omd & oig &9 M o 3,
2) w1 &t w11 3 & ¥

(3) = I 3R w9 I I o ¥
4) = I8 ¥ g 0 I ot 3

Preeforf % & S oneia TRty
S G g o) ™

) )\/\’/

OH
OH

©)) CH,

H
OH OH

® e

H
@) )\‘/\0}1

OH

TR - Lo g - I % T R @i

-1 - 10
(ot ¥ (3w
HFRNTA)
A. ST I. @& S-OH, $=0,
TS ot & S-0-S
B. wef® oo Il & S-OH, T $0
C. wdmwrfR@ Il & S-OH, a §0.
ol g S-0-0-
D. wer@ o IV. @ S-OH, & 50
3 fg o e ¥ § W I g
(1) A-IIL BV, C-IL, D-I
() A-l, B, C-II, DIV
(3) A-IL B-1V, C-, D-II
(4) A1, BIL, C-IV, D-II

[ Contd-
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|

W

ldentify the m
following react

m

(©))

<
o

94 Identify the
following s

CH,CHO

95  The re
blast
temper

(1) ¢
@) ¥
3) 1
@)
G6_Hindi
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93 ITAE
lfdlelntlFy the major product obtained in the preratad
Ollowing reaction : o
i * ZK‘Ag (ne 3) 1‘X
[+ 3
+ 2[Ag(NH3)2] +
H (o]
© ;-on—=—> T TR
ox
3 OH———) major product oH
@ CcCOO ™
CcOO™ o

: (0] O
OH
CcCOO™

04 Identify the final product [D] obtained in the
following sequence of reactions.

i) LIAIH, H,S04
CH;CHO 3 ﬁ3oi > [a] 2% [B]

94 Wﬁ%m%mmﬁmmw[m
N qEaitTe ]

LiAlH H,80
cH,CHO 2Tt (A — 2 (8]

Br

HBr , [C) ©/ o

Na/gesiat '\D\
(1) HC=C® Na'

?) ©/\

Br

9]

Na/dry etheﬁ [D]

5]

(1) HC=C® Na*

133

(4) C,H), @) Catho 4 900K
gt 1< ad
s 3 P Rh
95  The reaction that does NOT take place in a 5 : R L
1500 K aa®

blast furnace between 900 K to 1500 K 3. 0

temperature range durmg extraction of iron 18 : (") CaO + Si1U; C;;,Se‘o i cO2

(1) CaO +Si0, — CaSiO -

2 3 (2) FezoB _, Fe + cO2
(2) Fe,O4+ CO — 2FeO0 + CO, 3 FeO + 5O covtd
C+ cO2

(3) FeO + CO — Fe + CO,
(4) C+CO0,—2CO

G6_Hindi+English )
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96 Pumice stone is an example of -

(1) foam (2) sol
3) gel (4) solid sol

Which complex compound js most stable?
(1) [co(Nm,), ] 5(s0,)

&)} [CO(NH3)4 (H,0) Br](NO3)2
3) [Co(NH3)3 (Nos)g]

(4) [CoCl, (en), ] No,

97

Consider the following compounds/species -

OOO

The number of compounds/species which obey
Huckel’s rule is

(1) 5 -(2) 4

B 6 4 2

The equilibrium concentrations of the species
in the reaction A+B=C+D are 2, 3, 10 and
6 mol L~1, respectively at 300 K. AG® for the

reaction is (R =2 cal / mol K)
(1) —13.73 cal (2) 1372.60 cal

(3) —13726 cal  (4) —1381.80 cal

i.

@: 8

On balancing the given redox reaction,

aCry07” +bSO02" (aq) + cH* (aq) —»

2aCr** (aq) + bSO (ag) + E H,0(¢)

the coefficients a, b and ¢ are found to be,

respectively -
() 81,3
B) 3,81

)
4)

1,3,8
1, 8 3

24

96

97

98

99

100

I gy IATET B
(1) ®m &1
(3) & =

¥ S ¥ MG S .
(1) [Co(NH), ] (S0y),

@) [CO(NH3)4 (HZO)Br](N03)2

3) [Co(NH3)3 (NO3)3]

(C)) [CoCl2 (en)z:] NO;

(2) @i &
(4) 3@ dfe oy

Frffea difret / ehefer ot R i,
)
9

iii.

| v, N
a I

ﬁﬁmﬁmmwmmm wighy
@ Hem T

(1) 5 Q) 4
) 6 @ 2

300 K WX sifyfear A+B=2C+D ¥ wiha &
ATATTAT FigaTd a2, 3, 10 3 6 mol L3
arfifirar & faw AG® ¥: (R=2 cal / mol K)

(1) -13.73 cal (2) 1372.60 cal
(3) —-137.26 cal (4) —1381.80 cal
QA TR SggETy SfkRET B dgivd T © e

a, b 3 ¢ F9M: Ww T &
a Cr)02™ + bSO (ag) +c H' (ag) >

2aCrt (ag)+b SOﬁ_ (aq) + % H,0(¢)
(1) 81,3 2) 1,3,8
(3) 3,8, 1 4 1,83
[ Contd



A8 ASSCITT
Reason R :
hyte V'
Assertion A : The fir! cage of @AMEP 7 O oA T
lhc“l.irf‘c ::clc of moss 15 protonema -“agc'ﬁom Maﬂ i‘ﬁ 5 Fred ¥, A=
Reason R ° protonema develops directly SLES E:ff( e z\
spores Pﬂ’duwd in CapSU]C- 5o ¢h WA 2 m R A A@T _a%‘ QI\'@I‘
In the light o“nh;:nsVerﬁ'tf“ su ons 2V Q) AWRM'GTJ% .
most apercP @ & T = el
below : ' zl Maﬂ%mk,l\
(1) Ais not correct put R 15 corr R is the 3) A 3 R
W Both A and R are correct ! &l |\ 2\
correct explanation of A- NOT the @) A @ R &S
Both A and R are correct but RIS e - e St
correct explanation © A. e ¥ @ frADL
4) Ais correct but R is not correct 102 @gﬁﬁ\ﬁ, .
T T TE frafed ©
di  aratedt
102 Cellulose does not form blue colour with Jod1n® M ATl k4
becans” ~di cts with it. 2 a5 TH %\
(y It breakes down when jodine red ) ' . '
@) ltisa disaccharide- (3) T® T Feapa FY ¥\ |
@) It is a helical molecule. @) T edh T B I s e
It does not contain complex helices and F THSHT T W@ FHaT
hence cannot hold iodine molecules.
103 asahﬂ—mqwmtahmsmaw%ﬁw
103 Which micronutrient is required for splitting of o & % e ¥ R SETED X
t | i is? - '
water molecule during photosynthesns, 1y @ e
(1) copper (2) manganese - 3) @ SR
(3) molybdenum  (4) , magnesium
Ll Fa &7
104 Expressed Sequence Tags (ESTs) refers to 104 g&i R Al e
(1) Certain important expressed genes. ) ? f, TS o7 o ‘
, I
(2)« All genes that are expressed as RN A. ) o - a
(3) All genes that . T Sl A
@ are expressed as proteins. 3) 3 @il o, g
al
) All genes whether expressed OfF @) a9 ol @
unexpressed. 48 8! £ &
|
@ «*
a3 7 g

105 The thi
he thickness of ozone in a column ©f air in the | 105

atmosphere is measured in terms of -
(1) Kilobase ) - Dobson units ((;))




106  Given below are two stat
as Assertion A and thmemS:Q"e is labelled
Reason R : ¢ other is labelled as
Assertion A

. ATP i
glycolysis. I SR B fivoeteps in
Reason R : Fi
: First ATP is used in i
; c

ilrll!;os'e 1ntodglucose-6.ph()sphate angn:::::::g

is used in conversion of fi :
phospha.lte into fructose-1-6-diphosphr:tgose-6-
In the light of the above statements, choose the
correct answer from the options given below :
(1) A is false but R is true.

Both A and R are true and R is the co

explanation of A.

Both A and R are
correct explanation of A.

@ A is true but R is false.

Upon exposure to UV radiation,
with ethidium bromide will show
(1) . Bright orange colour
2) Bright red colour
(3) Bright blue colour
C)) Bright yellow colour

which oné is

Among ‘The Evil Quartet’, 1e
considered the most important cause driving

extinction of species?
a Co-extinctions
2): Habitat loss an fragm

(3) Over exploitation for econo
(4) Alien species invasions

h of the following stage
ision of centromerc?
@)
M) Anaphase I

de/petiole

rrect

true but R is NOT the

DNA stained

107

entation
mic gain

s of meiosis

» Whic
involves div

) Telophasex
Gr Metaphase 11

h hormone promotes interno

110 Whic
elongation in deep water rice?
(1) 2,4D (2) GAjz
A Ethylene

(3) Kinetin
f recombination between gene pairs
me as a measurc of the
es to map their position on
d for the first time by

111 Frequency O
on same chromoso

distance between gen
chromosome, was Use

(1) Henking
(2) Thomas Hunt Morgan

107

108

109

110

111

(3) Sutton and Boveri
(4)« Alfred Sturtevant-

26
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106 ﬁawmﬁanﬁ%‘

. g BT T AR gy
e B y
S R

g
Cal mﬁfﬂ-l-6m §

~,:ﬁaﬁﬁﬁaﬁzﬁw’fﬁ'gw

gl
W%MR@I

i ¥ TG R AP T R

aﬁﬂ—mmqé/?{a%w

(2) GA;
“)

@ﬁWWGﬁH@ﬁ%é’mW#mﬁ
ﬁﬁﬁ%ﬁaﬁqﬁﬁwﬁmm,wﬂ
ﬁﬁﬁaﬁwwmmmﬁwﬁwm

(1) ¥

(2) gfqq &€ WA
3) geq ok SRl
(4) oS T

nz"caﬁarﬁmaaﬁ,

) qoraT &7
(1) 2,43

3

[ COlltd-u




235 dET T @
¥ TP epal Ll
¥ 4 H, @ rad
112 How many ATP and NADPH, are required for | 112 #Re =% T 07 4 NADPH,
the synthesis of one molecule of Glucose during firg fret
Calvin cycle? ¥? Tp oC 16 NADPH;
(1) 18 ATP and 16 NADPH, (1) 184 p olrc 12 NADPH;
(2) 12 ATP and 12 NADPH. @) 12 AT 12 NADPH,
(3), 18 ATP and 12 NADPH. (3) 18 AT 16 NADPH,
(4) 12 ATP and 16 NADPH, (4) 12 ATP & SrCT
113 What is the role of RNA polymerase 11l in the e %7
process of transcription in Eukaryotes? 13 aifererest 111 @ ikl BT ‘
(1) Transcription of only snRNAs (1) e snRNAs @1 a3l 5.88) BT g
(2)x Transcription of rRNAs (28S, 18S and (2) rRNA 285, Ilqi:xs afrc snRNA &1 S
5.8S) A, 5 siR
(3 Transcription of tRNA, 5 srRNA and 3) tR:NA % £
snRNA 4 = ghdaT %
¥ e ¥\
(@¥ Transcription of precursor of mRNA 114 &S T gt aﬁ; mgﬁq S e A pm x
. il
114 Family Fabaceae differs from Solanaceae and e A ﬁ?’é\% @ R S
Liliaceae. With respect to the stamens, pick out afereel i Tt TR
- the characteristics specific to family Fabacea® (1) qﬂ'dﬁ = frsdt QTR
but not found in Solanaceae or L;llﬁceae. o (2) T aﬂ:j\'{ e
&7 Epiphyllous and Dithecous anthers ‘ 3) = : %
(2) Diadelphous and Dithecoui anth:a‘r:1 s 24) um ST THBH TN
(3) Polyadelphous and epipetalous s =
(4) Monoadelphous and Monothecous anthers . WW 3 ‘Eﬁw % if‘ pg e Eﬁdi‘iﬁ
115 The process of appearance of recombmal:lole! Elliaﬂqmmq (2) THIL
nodules occurs at which sub stage of prophas 1 @) Tz
* I in meiosis? Zrol %, (3) W .
(1) Diakinesis (2) Zygotene ¢ :
(3) Pachytene  (4), Diplotene p | 116 Prefiitaa wiemTT J
. [GPP — R=NPP|
I, nhe eqpation A, wrE wals Saeed §
[GPP — R =NPP| . . Y et SR ¥
GPP is Gross Primary Produ.ct'lwty T (R) %7
NPP is Net Primary Productivity (1) W S
R here is : :
(1) Reproductive allocation () mmaﬁ@ RIERRCIER
(2) Photosynthetically active radiation (3) YaES Tl
(3) Respiratory quotient (4) sEEa Ei
(4 Respiratory loss fr§ fored T
a 2
_ . 17 i s @ s
117 The reaction centre in PS II has an absorption A ¥7? 2) 680 0M o
maxima at (1) 780 nm ( 660 nm s
El) 780 nm f 680 nm (3) 700 nm C) :
3 700 nm (4) 660 nm ! Erd WOl T
18, o wd ¥ ¥
118  Unequivocal proof that DNA is the genetic v fea R ‘"_?
material was first proposed by (1) i aire Sl
(1) Wilkins and Franklin 2) dei® ffea of &
(2) Frederick Griffith (3) S = ol qej‘r( il
@ Alfred Hershey and Martha Chase @) T, ARRAATS .
(4) Avery, Macleoid and McCarthy [ Contd...
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119
phytohormone on juvenile conifers helps in
hastening the maturity period, that leads to early
seed production?
(1) Abscisic Acid
) Indole-3-butyric Acid
(3} Gibberellic Acid
(4) Zeatin ’
120 What is the function of tassels in the corn cob?
(1), To protect seeds
(2) To attract insects
(3) To trap pollen grains
(4) To disperse pollen grains
121 During the purification process for recombinant
DNA technology, addition of chilled ethanol
precipitates out
1) Polysaccharides (2) RNA
(3 DNA (4) Histones
. 122 In angiosperm, the haploid, diploid and trip}oid
structures of a fertilized embry0 $aC sequentlally
are :
(1) Synergids, antipodals and Polar _nuclei
(2) Synergids, Primary endosperm nucleus and
zygote
(3) Antipodals, synergids, and primary
“ endosperm nucleus ‘
(4) Synergids, Zygote and Primary endosperm
nucleus
123 Large, colourful, fragrant flowers with nectar

124

G6—Hindi+EngliSh ]

Spraying of which of the following

are seen in :
(1) wind pollinated plants

(2)« insect pollinated plants
(3) bird pollinated plants
(4) bat pollinated plants

In tissue culture experiments, leaf mesophyll
cells are put in a culture medium to form callus.

This phenomenon may be called as :
(1) Senescence

(2) Differentiation

() Dedifferentiation

120

121

122

123

124

(4). Development

28

“4)

a%,ﬁﬁﬂ,gxmgﬂﬂawqméwgww
3@ W g &7

(1) arg w9

(2) e i TEw

(3) uell wRE T

(4) TwTES TR TRT

meﬁqﬁwﬂﬁaﬂﬁmﬁﬁf@
wwwﬁmmammw'“
AT Bl H HE A Wbl & 7
(1) sawn
(2) e
(3) s
4) i
[Contd'-'



125 Given below are two statements -

Statement I : The forces generated by
transpiration can lift a xylem-sized column of
water over 130 ‘meters height.

tatement II : Transpiration cools leaf surfages
sometimes 10 to 15 degrees, by evaporative
cooling,
In the light of the above statements, choose the
l;letl»st appropriate answer from the options given

ow :

(1. Statement I is in

'

125 %a\mmﬁ&m}%:

mml:ammq%mﬁmqmmm%
W F W By 130 ®. a1 wor wean 3
mmn:amﬁaahmwﬁsamm@mﬁqqﬁnﬁ!

' - 10-15 T3y =1 @ 2y
wﬂwmuﬁ%ﬁwﬁ,%ﬁ:&ﬁrﬁﬁﬁﬂé‘r
I gy

() =om Lo ¥ v o 11wy 3
heatemen correct but Statement 11 ) = 1 3 wum II = |3y % 4
B : 3 TR ST o T Y e ¥
( 0 (()):lh.ecf.tatement I and Statement I are @) = 1wy T T AL T 3
3)
®) E,%g‘rrescti'_teme“t ! and Statement 10 are 126 S fafrern w Ao T o Wi Py
) iSl:atemetnt Lis correct but Statement I is ® ety o fw ag ¥ B v e
correct. (1) 2002 () 1985
126 "['Tl:.l:: hlizstorii]cSConvc?ntion on Bio_logical Diversity, 3) 1992 4) 1986
o tl?e ;l:ar :ummlt Was held in Rjo de Janeiro 127 T BT & B ‘eﬁT{r{q = AR S
(1) 2002 - (2) 1985 % g Wi % gem
() 1992 (4) 1986 ﬁaﬁ%{ ? o T T
127 Ingene &un method i i i T
into host cle];les, ?ni‘éff,‘:,;?ﬁ‘gggdg? alien DNA (;) Rl Q) s
Er;gtalsqlre used. S 3 () Ewem o oy
ilver 2) Copper 128 Toeeh 5 .
3) Zinc Tungsten o gola iy \3?: S g;[ N ey % [Rie SR oy
128 I\H/};\riliment and aCCumulation of ions across . w3 ;{ib‘a{ B T ey B ey CIREN
o bga::pﬁlgiilerzistb;helr Concentratiop gradient Q) ‘Tﬁm e
(1) Active Transport., Q)
g; IC?)smos \ \ Q) gorg ferargo
acilitated Djfrye:
(4) Passive Tran;;f)f::tlon 4 Piesy I
129 Axile Placentatiop, ; . 129 '
. b Ty .
) China rose pep 003 and Lo M O X w4
( ustard, UCumbey Pri ¢ ﬁiﬁm Wt :“EL
(3) China » Beans apg [ ,i0rose () » W i e
OMato, Dianghyg and P;F " Q) , I s et
130 Identify g, COTTect statemens. . 4) =y, STy o
. etTiVOl‘es ents : . HX
B e hy agmentatjgp, 130 w3 HIR 3y e -
Microbeg I degradeq by som A SN
C. Water ¢ uble ingr Peralization LR ot o w ¥
into the nic nutri.e;'lts - B. ERSt ‘?ren‘gaﬁ B BT 37 st arqufeg
D Process cay leachin, PreCipitateq by ] R TTRHTT w7 sy il
© detrity, d chain peg C. ™ gevishe WEEtS dww e ¥ Ay aw
E Ergi?llsms CBINS With living T ¥ S o 21 o § Rk Preiery ey
© o Sarthwory break %1
0 Smalley Particleg 1o V0 detrityg into e S et A oo B 3
Catabg; Sbya roces D.  swew um gl N
Choose Zhsc‘;lr're t N E. Fgen e @ i BT SIS TN T v
EIvVen belgy, . oot answey from the Options ¥ ™R ST ﬁﬁ:ﬁ; ——
(3)'* g (E; % onlly 2) A B, C Only :ﬁf)‘ Ei:?D E Aﬁ @22) ¥ A, B, C
> only (@) CDE only ((3) %@ B.C.D  (4) e C,D,E
G6_Hindi+Eng1ish ] 2% [ Contd...
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131

replication of DNA takes

Among eukaryotes;
) M phase

131
place in -
(1) G2 phase
3)- S phase 4) G, phase
low are two statements :
h and exarch are the terms
f

Given be
¢ I : Endarc
scribing the position <©

132
Statemen
d for de
lem in the plant body-
Exarch condition he most
f the root system. -
tatements. choose the
tions given below *
but Statement Ix

132

is t

Stateme

common feature ©

In the light of the above s
¢ answer from the op

correc
Statement ¥ is incorrect
d Statement T@L are

1y -
is true-
_(4’{ Both Statement I an
true.
Q3D Both Statement I and Statement IX are
false. )
Statement I is correct but Statement IX is
false.
L sl ,
henomenon of pleiotroplsm refers to
morethantwo genes affectinga single character.
(2) presence of several alleles of a single gene<
controlling 2 single crossover.
a3) presence of two alleles. each of the two
genes controlling a single trait.
“4)_a single gene affecting multiple phenotypic
phytes

7 expression-
r of heterosporous pterido

133

|
The p

134

Identify the pai

among the following :

(1) Eguiseiurr? and Salvirzia
Iaginella

134
(2)~ Lycopodizrr? and Se

-
3) Selaginellca and Salviric
(4) Psilorzrmz? and Salvirzia
Given below are two statements : One is labelled
is labelled as

Assertion A and the other
Late wood has fewer xylary

135

135
as
Reason R :
Assertion A
elements with narrow V&
Reason R : Cambium is
In the light of the above statements,
correct answer from the o ti i 4
(1) A is false but R is trlfljefons given below |
(2) Both A and R are true and R is the correct
explanation of A.
(3) Both A and R are true but R is NOT the
correct explanation of A.
(43 A is true but R is false.
30

ssels.
less active in winters.
choose the

G6_Hindi+English ]

F .12 a’“(z
1 G, aTaEn -
((3)) g STErEET (4> G STTET
.= ¥ ¢
T== =BT IIHNT

gquramar:?r‘ésf%:ﬂﬂﬁ‘,
Gﬁ‘{'i!'?-l(zi
1> zsawlirzwa%qﬁmﬂﬁll@%l
2 e I ST FTT IIa’Fﬁjfﬁﬂ%I'
3 a;qqla’?l’(asﬂﬂa’lﬁfm%l
Iaﬁ%qrﬂa:uqllm%:
ereroT Y Wit

ﬁﬁawmf&ﬁﬂa%:q&?ﬁsmﬁa;mA%aﬁT
E.;:HTI’EB‘IT"IR% 2
ﬁsmmqu:wswﬁﬁiﬁﬁaT%ﬁraﬁ?ﬂﬁ
eﬁ%errs-atra-cas’r%%l
mR:aﬁﬁﬁ%Félwﬂa?qﬁmﬂsﬁﬁﬁaT%l
wﬂﬁﬁuﬁ%%waﬁ,%ﬁanaﬁaﬁﬁﬁaaﬁ
A 5T ey =rEAT

s :
(1) Am%q—(ﬁRHﬂ%l
) ;eﬁTRﬁﬁW%aﬁtR,
1
3D AmRﬁ-W%WR,AﬁH@W@l
= F
«“ A O & gtg R &G &l
[ Contd..



Statements : -
Cnticels are the lens-shaped openings
Permitting the exchange of gases. -
B ark formeq carly in the season is ca
hard bar_
C.
D

ark js 3 technical

tissueg exterior to
Bark refers to
Phloem,

E.

Phel]ogen is
Choose th

below -

term that refers to all
Vascular cambium,
periderm and secondary

single-

layered in thickness.
€ correct answe

r from the options given

137

List I1
Proteins are

Ge

synthesized
G, Phase L Inactive phase
C. Quiescent 1L Interval bec:ween
stage Mmitosis an
. initiation of DA
replication
D. G, Phase v, Equationa]
R ivision

Choose the COmect answer from the Options given

ow : '

() A, By, C-I, Dy '

2 A, B-II, C.1y, p

(3) =1V, B‘II, 'I: D-HI
) Ay B-L, ¢, D-m

138 Givep, below are Statements . One is labelleq
3S Assertigp nd the ther g labe]leq as
Reasop R .

SSertiop gymnosperms the
Pollen Brains 40 eleaseq from the
mlcrosporangl_um and carrigq ir Current

€ason R . 4; Urren Carry th llen graing
0 the mq th of the archegop; °Te the mg)e
%(e)lrrln:etg.s d chafged and poljep, tube g not
: lEhe light of the ap atements, chooge the

Ct ansye € Optiong given below .
(1) A false Ris true
@ Both A gy nd R ;
. Cand R i the correet
xplanatlon f
B) Boty A ang are true byy g is NOT the
Correct explanation of A,
(4) A 'S true byt g is falge.
__Hindi+English |

137

138

31

136 & HUA BN TEAC

: Sy A
3 % ot ¥ fom B ¥
A, IEATH %\

1
e & wrow A o BT B BT
> EIGIE S

' Y Y
aﬂaﬁam%ﬁhw
C.‘W?wmﬁ%mﬁwﬁ?%‘
D :aﬁwﬁaﬂaﬁtﬁaehwmm%mﬁ PEE]
E i:a?w\as‘ﬁqaﬁma%éa%l
R R

(¥ ¥ W gfn
1) %@ B aix C
22; %W B, C aix E
(3) %=w Ak D
(4) %a@ A, B ok D

iﬁhlﬁrwn%mumaa&%\ﬁ
o W

A, M ey L Eﬁ#ﬁﬁrmﬁw

B. G, wrrey . AP arereey

C. i sy 1I1. S ey
e aig
REAL A Y -
%maﬁ%aﬂ

D G, sy V. w% favory

T Ry R T g

(1) A, B-Iv, C-1, D4y

(2 A, B, -1V, D

Q) A-1v, B-I1, . , DAIpg

@ Ay, L, €1, pyp

%ﬁmm&e‘"ﬁ% Qﬂsﬁama;amA%aﬂT

%?TIWR%: | Gl

AE T A IR ¥ 7 ey

W%m%%mmmmam

RIS

F R .

' U % g@ gy
ﬂqﬂmmmaﬁﬁ} .
%w%,mﬁmgmma@sﬁam%mw
‘ I . e
mmuﬁ%mﬁ,%ﬁaw&ﬁmﬁﬁw
gaY :
Q) A 39T ¥ uTg R w3 B

2) A ST R 3 W ¥ ofit R, A 9 w8 sy
Tl

3) AWRMW%WR,A%H@W
& ¥
(4) A ¥ ¥ utg R s ¥
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139 Match Li i i :
Li]SJtlsIt I with List II s 139 i@ @l 3 ra GART
A. Tron o i o o
A ( . Synthesis of auxin ' g ®1
. Zinc Il. Component of A. T L ﬁgmw S
C. Boron 11 nAict:‘;?:Zt{)edoufcmfel B “ gﬁ ki
1 ; rofc < SRR
D. Molybdenum V. Cell elongatioana e c. @ " ﬂﬂﬁ'ﬂm
and differentiation D. AT G ﬁﬁ-ﬁﬁ o
ons given Sit%
. 5 & wh sat g

Choose the correct answer from the opti

below :
(1) AL BV, G-l p-1II
A-IIL B-IL C-L, DIV ) AL B-1v, C-I:
(3) A-IL.B-IlL C-1V. D-I @) Al g-I1, C-L. D-IV
(3) A-llL, B-L, C-1V, D-II G AL g.1il, G-V P I
140 Which of the following combinations is required @) A-IIL, BT c-1v, D1
for chemiosmosis.
(1) proton pump, electron gradient, NADP 140 Fa Fa-4ar FurEE TEEAS TUEm
synthase ) 3 forg ATEALED 3?7
dient, -
proton £ (1) e T T g R
| g g, T A fidg

(2) membrane, proton pump,

dient, ) Rl
g2 99, cinl

ATP synthase
3) membrane, proton pump, proton gra

NADP synthase ) freeh w3
(4) proton pump, electron gradient ATP € ’ . 5 fi

synthase 4) weT T geragr g S i

f R mbinant
of Ree eps in a | 141 WQ.W.Q-%W*E@WﬁWW
' 3 sqafted g

141 Main steps in the formation

DNA are given below. Arrange these steps In @
correct sequence- ) ¥ o= @8 B
frecombinant DNA into the host A ey R ¥ Eﬂﬁ:ﬁ R AL ;
g g & Sy I T (AT

A. Insertion©
cell. _ )
B. Cutting of DNA at specific Jocation by
restriction e(rjlzymtii DNA . R call
C. Isolation of desire ragment.
D. Amplification of gene of interest using PCR. c. difsa ITTQ TE @ gud HTT
Choose the correct answer from the options given  grdhan. 0 ST @ 8¢ qiftsa S @
*’ below : . & B . D.A el
(J) B, D, A, . - ] ) ] Y
{ 3)+ G A, B, D 4),C. B, D, A ﬁ%ﬁﬁv&ﬁmﬁﬁaﬁ;ﬂg gﬁqD A.
142 Which one of the following statements 15 NOT (1) B D, A C 2) b %Y
correct? 3) C, A, B, D 4 G, B, D, A
(1)~ The amount of some toxic substances of ‘ .
industrial waste water increases in the | 142 ¥ A s BT g T #7
e o oy 33 80 0 T
biodegradation of organic matter in a & geraT ddl ' T Shat & @@l B ¥l
sewage polluted water body consume 4 ot ) afeq 7o ® wafta ST § af@ qerdi @
of oxygen causing the death of aquatic e A R it
organisms. ) & "Gila
(3) Algal bloom$ caused by excess of organic ) ¥ P e sl @ 79 7 %l
matter inf_water improve water quality and (3) w@ A orfaRe Siferes qerelt & B ﬂ"‘r‘;
promote isheries. et .y g
(4) Water hyacinth grows abundantly in i f & o 9 & ot @
cutrophic water bodies and leads to an B B e &a 2
;E'lebz:i?‘?cebmd the ecosystem dynamics of (4) g SEE ¥ vl N A e q
c . s \ .
oo Wamﬁmﬁaﬁnﬁrﬁm@aﬂaaﬁm%l
[ Contd
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i orrect
@ Which of the following statements are ¢
’ " bl
about Klinefelter's Syndrome?

i by

A.  This disorder was first described by
Langdon Down (1866). )

B. Suclg; an individual has overall masgulil:z '
development. However, thde femin
development is also exp_resse ’ -

C.  The affected individual is short statur;:fa]

D. Physical, pPsychomotor and me
development is retarded.

E.

Such individuals are sterile.

ions
Choose the correct answer from the option
given below -

(1) Aand E only (2) AandB only

() C and D only (4) B and E only

144  Match List I with List 11 : ]
List 1 List II
(Interaction) (Species A alEl;; B)
A.  Mutualism I +A), O(B
B.  Commensalism II. A), O(B)
C.  Amensalism II. +(A), «(B)
D.  Parasitism IV. +(A), +(B) .
Choose the correct answer from the opti
given below -

(1) A-l1, B, C-IV, D-II
) A-V, B, C-I, D-II1
(3) AV, B, C-II, D-I11
4 Av, B-III, C-I, D11
145

: A flower is de
shoot whereijn the shoot apical
to florg) meristem,

Reasop R

fined ag modified
meristem Changes

ents, chooge the
Options given below -
true,

are trye
of A,
and R are true byt R
ect €xplanatiqy, of A,

IS trye but R is false,

GXplanation
G) Both A

corr
@) A

HOWm ' d;

Y
consist of?
€) 20
B3) 60

and R ig the correct

is NOT the
146

ifferent Proteins doeg the ribosome

@) 80
4) 40
G6__Hilldi+English ]

A. ‘
B. ‘
€. \
D.

#n ¥ :

ﬁiixaAaﬂTE (Z)EZB@TE
8‘; Faw C ok D  (4)

L I o e

144 A T sl .

( N ) . +(A), O(B)
5 L —~A), O(B))
> sfeRard et 0L +(A), (B
o IV +(A), +(B)
711'?1;—} T T el ¥ ¥ v sy g -

(1) A-lIL, B, C-1V, D-I1
(2) A-IV, B C-I, D11
(3) A-IV, B-I, C-II, D41
4) AV, B, C1, po

145

D am R & %1
((12)) :?R%ﬁw%aﬁrk,Aaﬁﬁﬁw |
3) ?@TRMW%WR,A@[@W gk
) ?E:%WRW%I N

146  TeaEm F fray f T WEW B ¥

0 @ =
35 33
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147 Match List I with List IT :

A, élosl:ezion I. Il\-fl‘ics):'.elgttraction in
B. Adhesion II. }:fﬁtﬁlarggtﬁction
- among water
C. tSel:g;?: I :lwglt;(r:'ull:sss in
D. Guttation IV. Xéturladct?c})‘l?stiwards

ch polar surfaces
givzzsebe}l;i c:orrect answer from the options
(1) A-II, B-I, C-1V, D-II

(¥ A-IL B-IV, C-I, D-III

(3) A-IV, B-III, C-II, D-I

(4) AL, B-I, C-1V, D-II

{'z;_)s Match List I with List IT :

List I i

A. Oxidative L g;:rtatlg
decarboxylation / synthase

B. Glycolysis . Pyruvate

C. Oxidative I dET?Zgz)%genase'
ph_osphorylation transport system

D. Tricarboxylic <IV. EMP pathway
acid cycle

Choose the correct answer from the options given
below :

(1) AL B-IV, C-111, D-1

(2) AL B-1V, C-1L, D-I

(3) A-l, B-IV, C-1, D-1II

W4) A-Il, B-l, C-II, D-IV

149 Melonate inhibits the growth of pathogenic

150

bacteria by inhibiting the activity of
(1) Dinitrogenase

(2¥ Succinic dehydrogenase

(3) Amylase

(4) Lipase

Given below are two statements :

Statement I : Gause’s ‘Competitive Exclusion
Principle’ states that two closely related species
he same resources cannot co-

competing for t _
exist indefinitely and competitively inferior one

will be eliminated eventually.
Statement II : In general, carnivores are more

adversely affected by competition than

herbivores.
In the light of the above statements, choose the

correct answer from the options given below :
(1) » Statement I is incorrect but Statement II
is true.
Both Statement L and Statement Il are true.
(3) » Both Statement I and Statement 1I are

false.
(4) Statement 1 is correct but Statement II is

false.

G6_Hindi+English |
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148

149

150

A-IL, B-1, c-Iv, D-1II
A-IL, B-1V, c-1, D-1I
A-IV, B-11, Cc-1, D-1
A-IIL, B-I, c-1v, D-II
FT :
II

a;hlaﬂqghll%amug&ﬁﬁ
T 1 o
fage Ridw

S L
E CACIE ISR
qEEde e
[l S giEed 9

A.

B. waweew L
C. omaRfE
HERITAST

FAECIUIIEEIRGS

o °%
S5 Ry T Red § ¥ @ I gfrg
(1) AL, B-IV, C-IL, DI
(2) AL B-IV, C-I, D1
3) Al B-1V, C-I, D-III
(4) A, B, C-IL, DIV
ez frae afead & TwHT, WTHIE St
% gfg @ T &7
(1) eEERRE
() S SeEgi
(3) TEEW
(4) W
A e AT
FA ;TS el faw % orgE U9
& @ % fg F@ e o Freed ara'r%?l

mmmma—muaﬁrﬂﬁeﬁ

D. Iv. zuad. uiad

et g Y
g B & H
Tt i

(1) w17
2) & 1 s & I
3) @ 1 i & 1
(4) T 1T § TG T

ﬁ%ﬁ&nﬁﬁmﬁfﬁﬂaﬁ

5 qrg w1 & 81
2t T ¥
i e €
11 o 8
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Zoology : Section-A (Q. No. 151 ¢, 185)
Match List I with List II.

151

List I List 11

A Gene ‘@’ L. B-galactosidase

B. Gene ‘y’ Transacetylase

C. Gene ‘7’ Permease

D. Gene ‘Z’ * Repressor protein
Choose the correct answer from the options
given below:

(1) A-IL B-I, C-1V, D
& AL B, C-IV, D1
(3) AL B-IIIL, C-1v, D]
(4) A-IL B-IV, CI, D
Given below are two statements:

Statement I: Ligaments are dense irregular
tissue.

Statement I1: Cartilage is ge
In the light of the above

152

Nse regular tissye.
statements, choose the

(4) Statement I s trye but Statement I7 js false.
Given below are two statements: one is labelled
nd the other is labelled as

153

Reason R: Ban On amniocentesis checks
increasing men

ace of female foeticide.
In the light of the above statements, choose the
correct answer from t

he options gjven below:
(1). A'is false but R is true.

- Both A and R are true and R is the correct
explanation of A,

¥¥ Both A and R are true and R is NOT the
correct explanation of A,
(4) A is true but R is false.

154 Match List 1 with List IT.
List I List 1
(Type of Joint) (Found between)
A.  Cartilaginous . Between flat
Joint skull bones
B. Ball and Il Between adjacent
Socket Joint vertebrae in
' vertebral column
C.  Fibrous Joint I Between carpal and
metacarpal of thumb
D.  Saddle Joint IV. B

etween Humerys
and Pectoral girdle

Choose the correct answer from the options

given below:

(1) A1, B-1v, C-111, DI
(2) AL, B, C-II, D-IvV
(3 AL, BV, C-1, D-INI
(4) A-L, BV, C-III, D-II

G6__Hindi+English 1
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T fermped) &
(1) A1, B, cay, py
(2) AL, B-1, CIv, Doy
() A-IL, BT, C1v, D
(4) AL, BV, C-1, Doy

W < How Ry T ¥

Y 1; '
e Tt s §)
Wmﬁ%m&ﬁﬁ%fﬁqmﬁﬁq‘f@rm

S B 99T &Y
(1 T 1L o ¥ A o 0 T 3
I g

(2) T Fwm 1
3) aﬁ‘fmmlq&ﬂm%n
4) 1§ 3 AT w10 oree 3

ﬁi\%ﬁmmﬁﬁnﬁ%:wmﬁnA%mm
R %)

W{iﬁrﬂiﬂﬁ%ﬁm&rﬁ,ﬁﬁqmﬁwﬁfé
TR & T4 F|

) A ¥ET ¥ 6T R & 3

) A@Rﬁﬁm%@R,AaﬁHﬁw%l
A3) gqﬁRﬁm%@R,Aaﬁaﬁwaﬁ
|

(4) A FI ¥ A R o 3
@Iaﬁ@ll%mugﬁﬁﬁwm
: .ﬂshl

W@

(@ = wamw) (% 7o v o ¥
SURg-gem L ;qé‘r ERIRECIC |

iy Ay

P T BIeHS H oY

:?_ﬁ;@ Probeardt #svemman

: qa;s HYA 3T
ﬁa‘?l%r&a & Ay

USRI

G ¥ Hey
ﬁﬁﬁmﬁmﬁﬁaﬁwwwwﬁl

(1) A-l, B-V, C-III, DI

(2) A-Hl, B-1, C'Ils D-lIv T-8.m,
(3) A-Il, B-1V, C-1, D-IIl Py
(4) A-l, BV, C-II, D-1I

A.

B.

C. Wwmafy . I

D. dsw @iy Iv.
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¥

157
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159

166
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Given below are two statements:
Statement I: Vas deferens receives a duct from
seminal vesicle and opens into urethra as the

ejaculatory duct. )
Statement II: The cavity of the cervix is called

cervical canal which along with vagina forms

birth canal.
In the light of the above statements, choose the

correct answer from the options given below:
(1) Statement I incorrect but Statement II is
AY ggteh Statement I and Statement II are
3) :l%l)fl‘l Statement I and Statement II are
)] Si:fe.ment I is correct but Statement II is

false.

Which one of the following techniques does not

serve the purpose of early diagnosis of a disease

for its early treatment?

(1) Enzyme Linked Immuno-Sorbent Assay
(ELISA) technique

(2) Recombinant DNA Technology

(3) Serum and Urine analysis

(4) Polymerase Chain Reaction (PCR)

technique

Which one of the following common sexually
transmitted diseases is completely curable when
detected early and treated properly?

(1) HIV Infection (2) Genital herpes

(3) Gonorrhoea (4) Hepatitis-B

Which of the following is not a cloning vector?

(1) Probe (2) BAC
(3) YAC () pBR322.
Match List I with List IL.

List I List 1T pif
A. CCK . Kidney
B. GIP /1’1. Heart
C. ANF.- IIl. Gastric gland
D. ADH .~ IV. Pancreas

Choose the correct answer from the options
given below:
(1) A-1V, B-II, C-lI, D-1
£) A-1V, B-1lI; C-11; D-1
(3) A-II, B-II, C-1V, D-1
1+ (4) A-ll, B-1V, C-1, D-II

Which of the following are NOT considered as
the part of endomembrane system?

A. Mitochondria ca Vv v
B. lér\ll(lioplasmic Reticulum- ¢

oroplasts o N

Golgi complex («)U‘b (('/(/\U(\

E.  Peroxisomes »

Choose the most L
: : appropri
options given belo\?vl;) priate answer from the

) A, D and E on] v
. y (2) B and D onl
) A Cand E only (4) A and D 0nl§
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156

157

158

159

160

|

*ﬁ%a‘rmmﬁqwﬁia il ,
FuA I ghared Y1 qk EUSEETG) |
mwﬁmﬁvmﬁ%wﬁw%l
Fom I1: affaa @) Te & Feed T FE T
@Ay F @y o A S S
wﬁaﬁwﬂ’f%mﬁﬁ,ﬁ%ﬁqm{ﬁﬁﬁﬁ%m
T &1 999 B

(1) = I or & dfa & 11 & &1

(2) o wo [ wd I & 2

(3) A Fom I 11 o 2

(4) w1 v ¥ Afea o 1 o

Pt & & B qaid TP U % ARE STEN §

g Wi P A SRt T 87

(1) Usiga gew wRcEn 9o ST (Teen)
(2) g ey deEfm :

(3) @@ T g fagenn

(4) e 3 Rgwe (FEe) qHH
fret & 4 @ 4 g A i W B A e
AT T WY ST I S & TR B W i o
S & gEd § 7

(1) Toomd gwam  (2) Wt g

(3) gT® (4) TPama-B
et & 4 B AT daed T8 § 7
(1) wa (2) BAC
(3) YAC (4) pBR322
o 1% T I F wa gafed &1
T 1 T 10
A. dh I g%
B. Siemddr . &g :
C. UTAUH M. et ufy
D. ww™ IV. or=aed
9 Ru o Rt ¥ 7@ ST B 9aT U

(1) A-lV, B-II, C-III, D-1

2) AV, B-I11, C-II, D-1

3) A-IlI, B-II, C-1V, D-1

(4) AL B-IV, C-1, D-III

e & & B A ofa Rt o &t W @ AW A
¥?

A. GABOTH

B. sl wfemn

C. U@

D. Ticell |iASA

E. waiEm

P faeedl @ wad Sh@ SAX @1 9ad &l

(1) %a@ A, Dwd E (2) %aw Bud D
(3) %@ A, CTI E (4) ®%aw Aug D
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i ith List 11
161 Matc;igs; Iw Rdok T ‘
A. Taenia - Nephridja -
B. Paramoecium. . j,

Ontractile v
C. Periplanetq m

acuole .
 Tlame celig -
D. Pheretimq

t L with Lige I with Tespect to human .
eye.
List | List i ,
Fovea 1. Visible Coloureq Portion
of eye th

at regulateg
lameter of pupil.
Xterna layer of eye
Oormed of dense
Connectiye tissue,
C. Bling Spot i1 oint of

IL.

: | Brood
ow’s nest

) Parasitigy, « =
2Ot of 2 highe, 1,
1zag

Utualismy,

] Ll

X % Y wl
R ﬁ:;lTQB_“] Cﬁ’ﬁg_]lx

(l) 3 ’B_ll ’C-“L -“

‘ Zy Aeh Bk C-1v, D

1L, Ca, ppy ((3) A Bl G4V, Do

4) -Ia ‘1l, C-IV, D-lll v (4) A ‘“,

) B‘l . C'l, D-“

37




166

167

168

165 Which of the following statements are correct
regarding female reproductive cycle?
A. In r.wn-primate mammals cyclical changes
during reproduction are called oestrus cycle.
P. First menstrual cycle begins at puberty and
is called menopause.
C. Lack of menstruation may be indicative of
pregnancy.
D. Cyclic menstruation extends between
menarche and menopause.
Choose the most appropriate answer from the
options given below:
. (I)x A, C and D only
W A and D only
3)x A and B only
(4) X A, B and C only
Given below are two statements:
Statement I: Low temperatureé preserves the
enzyme in a temporarily inactive state whereas
high temperature destroys enzymatic activity
because proteins are denatured by heat.
Statement II: When the inhibitor closely
resembles the substrate in its molecular structure
and inhibits the activity of the enzyme, it is
known as competitive inhibitor.
In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I is false but Statement II is
true.
(2) Both Statement I and Statement II are
true.
Both Statement I and Statement II are
false.
(4) Statement I is true but Statement II is
false.
Radial symmetry is NOT found in adults of
phylum .
(1) Echinodermata (2) Ctenophora
(3) Hemichordata  (4) Coelenterata
Match List I with List IL.
List I List IT
A. Vasectomy. [ Oral method
B. Coitus - |l Barrier method
interruptus \\
C. Cervical caps \| Surgical method
D. Saheli V. Natural method
Choose the correct answer from the options
given below:
X1) A-lV, B-ll, C-1, D-llI
_(2) AL, B, C-1v, D-lI
A1, B-1V, C-11, D-1
(4) A-11, B-1lI, C-1, D-IV
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P § & T o T % o F

T BE ¥ B g

A. h—mmmﬁﬁw%mm
qfed = T%E 9% e T

B. wmwwmﬂgﬁﬁm%m
wifgh #ea ¥ ‘

G m‘g’aﬁaﬁa@rﬁuﬁfmﬁmﬁm%,

D. aﬁma@aﬁr\#\ﬂhﬁmﬁgﬁrﬁm%,

4 R T Rt F & TR IR ST H T FY

(1) ¥ A,CT@ D

) ¥ad ATd D

(3) %aw AT B

4) Faag A, Bw@C

Qe A WY _

wl:ﬁﬁamwﬁméw%ﬁm
mﬁgﬁmw%lmmmw
aﬁmaﬁmﬁﬂm&m%lﬁﬁ%ﬁm%m

f%@as’tvnﬁ%‘l
mll:mmmmﬁmﬁm

Wm%ﬁﬁ;ﬁwﬁmmmil
mﬁaﬂﬁaﬁ%uﬁfﬂﬁﬁﬁqmﬁmﬁm
o @& 99 B

) amlm%ﬁﬁmwﬂw%l

) i o I T 119§

3) a’ﬁ‘fmmlqz'rllamﬂ%l

@) amlam%aﬁmmmnm%u

(1) THEA () AAET
(3) ¥EEa (4) dRE
@Iaﬁ@u%mgﬁmwﬁn

o | @l
A graEm IR | ard st e
5 amww Il
c. g fer 2 L qreafinan Tt
D. v, sk faf
ﬁaﬁqmﬁﬁﬁﬁﬁﬂﬁmﬁwﬂ'
) AV, B, L, D-111
@) AL B, CIVs D-II
3) AL, BV, CIL, D-I
4) AL, B, C-L, D-IV
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169

169 @nﬁx@n%mugﬁm HAN
List 11 1
(Cells) (Secretion) L
A. Peptic cells. I ucus A
o Goblet cells 7 it juice B
C. Oxyntic cells L Proenzyme Pepsinogen C
D. Hepatic ce||g v, lf:lCl zlx)nd intrinsic factor )
lor absorption of
't H B D.
Choose the correct ansa;mgom the optiong
given below:
(1; A-{l\,, PEIV, C-L, Dy.
(). AV, By, C-Il, D
A AL B oy #ﬁ oty
Sy A, 5 i DV %2)) AL, B.1y, ¢
170 In Wwhich bloog COrpuscles, the HIV yng 3) Ax
fﬂPIlcélthn ar;lq]produces Progeny virltl;slese’;goes ((4)) A-IT
0S1no ’
o G) Blymphooytes %’ TBlélsg;]t:?ls 0w &
Vital “apacity of Jypg o
() IRV + ERy 4 ™ Yoz,
(gg RV + gRry
A3) IRV + RV+TV+RV 1m
172 G i V- Ry
ven belg are ty, .
Statemep; A pm?eisr:a tements: :
the left en represente d b agined aS lm.e,
(C-tenmn al) an d el Y first aming aci
last amin acid (N.v, g Tepresenteq by | 172
Statemeng yy, " Pl
consists of Subunjit 2’233 h,aemoglobin,
. units of
and two nits o @ type
In the Jighy o o be.)
€a
Frect answer es;at::-m nts3 chooge the
(1) Statemen 1 is fa] utp sm S 8iven below:
Both Statement | d Stagep ot Wi true,
(3) Both g temeng | g at ent 1Y ape true
"atement Y jg b tSat o false
iven bejq “M s false
31-: Assertio ::t::d h ne is 1abelled
::::tq R, her is labejioq a
lon A End
Implap, Ometri, 173
Reaso, tlon]:fﬂl-? lastocy gt Hesessary gy
disint, el geﬂel‘ate i tion, he
ln th gr tlo“ Ofe OTHEtr' = h causes
ellhtofhe tum, B sraRaft ¥ e fs @ e
“OFrect g v Statemep B ¥ ' ST B S &
Wer fro iore'S Chooge ¢, e o TRR w1 frge
M A false by g ' OPtiong g3y bel TR wet %
D) Both 4 g Ut Riig i e )
X

Match List | with List 11

List I

39

TR ¥, MY frw 7q faaedi § @
Ww?ﬁ;ﬁﬁl 4
(1) A sy R 7
2) A@Raﬁm%@mnﬁuﬁ;g%!
() AR w ¥ T R, A 2 6
T

(4) AT % Ao R o b
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174 Se
lect the correct group/set of Australian

&

' 176

177

Marsupials exhibiting adaptive radiation
((;; Lemur, Anteater, Wolf -
Tasmanian wolf, Bobcat, M i :
A , Marsupial m
(3) Numbat, S_potted cuscus, Flying [:)halan::r
(4~ Mole, Flying S(]uirrel, Tasmanian tiger cat

Match List I with List IIL.
List I List I1 -

A. Heroin I. Effect on

i cS:ardiovascular system

. Slow down body fi i

II1. Painkiller y funetion

I'V. Interfere with transport of
dopamine

Choose the correct answer from the options

B. Marijuana ’
C. Cocaine .
D. Morphine4

given below:

(1) AL B-1V, C-I, D-II »
2) AL B-1, C-1V, D-III
3) AL B-I1, C-1I1, D-IV
& A1V, B-MII, C-1I, D-I

Match List I with List IL
List I List IT

A. Ringworm 1. Haemophilus inﬂuenzaé
B. Filariasis_ II. Trichophyton
C. Malaria  HL Wuchereria bancrofti
D. Pneumonia IV. " Plasmodium vivax
Choose the correct answer from the options
given below:
(1) A-1IIL, B-II, C-1v, D-1

; A-Il, B-III, C-1V, D-1
(3) A-lI, B-IIf, C-1, D-1V
(4) A-11, B-lL, C-1, D-IV

are two statements:
Electrostatic precipi

thermal power plant.
tic precipitator in
s ionising radiations

Given below
Statement I:
widely used in
Statement II: Electrosta

thermal power plant remove
In the light of the above statements, choose the

most appropriate answer from the options given

below:

(1) Statement I inc
correct.

(2) Both Statement I an
correct.

(3-)(1_30th Statement 1 and St
incorrect.

Statement I is correct but Statement II is

incorrect.

tator is most

orrect but Statement II is
d Statement II are

atement II are

@
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fafpcor frary @@ eefar fugee %

(3) T=E, =
4) tﬁﬁ,wﬁmﬁ,wmﬁm%a
@Iaﬁ@ll%m&gﬁﬁﬁwﬁl

T 1 , @ 11
A. TEOEA [ &g =feel O 9 9HE
B. Afgem 1. X % Wbl &

HHT BN

C. @A [II. efE®
D. Hi®H v, S ¥ uftaes & awn
ﬁﬁ‘lwﬁﬂiﬁfﬁﬁﬂﬂﬁﬂwﬁl.
(1) A-lL B-1V, G, D-II
() AL B C1V, D-1II
(3) A-L, B-IL, C-IL, D-IV
(4) A-1V, B-1I, C-IL D-I
i [ & T 1 ¥ @ gakea &

T 1 o I
A. fores L Sieaa gegeer
B. wEaQd . gzE@wEaT
C. W N gERfar dpwrE
p. fmfn V. wad asd
ﬁﬁqmﬁmﬁq’fﬁ%aﬂwwmﬂl
@) A-IIT, B-11, C-1v, D-1
@) A-IL B-IL C-1IV, D-1
3) A-l11, B-111, c-1, D-1V
“4) A-I11, B-IL, Cc-1, D-IV
4 & wuw &Q T ¥

mnagﬁmmamﬁqawﬁwm
wﬁﬂﬁmﬂaﬁ%
mmll:mﬁgﬂmﬁ
fafpeor @Y w2 € .
Wwﬁ%msﬁvﬁﬁﬁqmﬁﬁﬁﬁ@“ﬁ
sat @ T B
(1) muﬂlm%aﬁﬂamnw%i
@) 2t e 1 e 1 & &

(3) at w1

agaaqaétﬁaana‘vﬁm




78 Given below are stateme
! Assertion A apg th

nts: one is labelled as
Reason R.

¢ other is labelled as

& Juxta medullary,

A IR, SR e T weiw ¥ wie
\, 2

v gt %WWQW%%%\WW‘M
based on their relative A "

. - mihm TEST ﬂﬁ“{!\

position in cortex and medulla, b R: T st SEE = N By
Reason R: Juxta medullary nephrons have short |/ VR 9= i@,ﬁ“ ;"'ﬁi R

loop of Henle Whereas, cortical nephrons have M ¥ s Rl b FFH TP =TS T
longer loop of Heple. ‘ WY B ¥\

In the light of the above statements, choose the

correct answer from the options given below:

(1) A s false but R i

PR IR B e =, AR
S true, .
(2) Both Aand R gre

T o et X Y
ST W W= Wiy
true and R g the correct
explanation of A_
(3) Both A and R are true but R

1s NOT the
correct explanation of A

» A T T8 =y ¥
A@Rﬁﬁ’tw%@R,AﬁﬁﬁtW‘ﬂ%
\ g '
A is true but R is falge. @& Am%n\ﬁm!{m%\
. o . . | '
179  Which of the following functions ig carried out : s -
by cytoskeleton in a cell? 179 EH&"M K A W w ﬁ'ﬁm ] |
(1) Transportation ST % ?
() Nuclear division (1) s
() Protein synthes;g ), T T
44 Motility WER Ty
: : R
180  Broad palm wity single palm Crease is visible in
a person suffering from.
M Thalassemia

2) Down’g Syndrome

ﬁ%ﬁ%ﬁmm%m%mnﬁ@mw
EIC
() Turner’s Syndrome, ey
O] K\inefelter’s Syndrome ) R ﬁ@‘q
() Rew
18 Given below are two statements (('a 1:‘3“%&'{( W‘t
tatement 1. In prokaryotes, the posit‘we\y 3N
chargeq DNA is he d with some Negative) W ¢
charged roteins j < = -
Proteins ip 4 Tegion calle, Nucleoiq q\ﬁ;w RRICE I O e
tatement yy, In ey aryotes, the negatwe\y — :" T i":? m ’gr:l
Chargeq DN 1S Wrappeq around the posit\Ve\y & 3 N ' % W s
1 atLgEd. histone OCtamer tq g, nucleosome Y by Tﬁ»‘ﬁtlm%\ AT SNTAY, ST
c‘:)r ® light of ¢ above g ¥ments, choose the I i ‘ ﬁmmﬁ e
1 rect answer from the OPtions givey, below: e Ry e
(1) Statement I Incorrect but Statement s ]
e.
.@5_ Both Statement 1 and §yq
(3)

--afﬁ‘ﬂ'lh
HUSI % et ¥, Y fg e §

\ \
T, ot e & et e
T L , %
nt 1 apng Statement 1y g 2) W FA L I “\';:WJ ¥
false, . ’ 3) Wi = 1w I
(4) Statemeng | IS correct byt Statement 1 is &
alse.

z
11 e
@ wmiwa? bk
GG__Hindi+Engﬁsh \
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182 Match List I with List II.

183

184

185

List IT
I. Beginning of systole
Repolarisation .of
ventricles
Depolarisation of atria
Depolarisation of
ventricles
Choose the correct answer from the options
given below:
(1) A-L B-I, C-III, D-IV
(2) A-II, B-1, C-IV, D-II

A-1V, B-1II, C-II, D-I

List I
A. P - wave
B. Q - wave II.

C. QRS complex III.
D. T - wave IV.

- (4) A-IL B-IV, C-I, D-III

Which of the following statements is correct?

(1) Algal Bloom decreases fish mortality

) Eutrophication refers to increase in
domestic sewage and waste water in lakes.

% Biomagnification refers to increase in

concentration of the toxicant at successive

trophic levels.
(4) Presence of large amount of nutrients in

water restricts ‘Algal Bloom’

Given below are two statements:
Statement I: RNA mutates at a faster rate.
Statement II: Viruses having RNA genome and
shorter life span mutate and evolve faster.

In the light of the above statements, choose the
correct answer from the options’ given below:
(1) Statement I false but Statement I1 is true.
Y Both Statement I and Statement II are

true.
(3) Both Statement I and Statement II are

false.
\W{ Statement I is true but Statement II is

false.

Which one of the following symbols represents
mating between relatives in human pedigree

analysis?

nHee o 1—O

=0 ® I

G6_Hindi+English |
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182 & I gt 11 & @i gafa &3

183

184

185

T I T I
A. P-ad I 9%ad & amy
B. Q-am . Freat & sygao
C. QRS@fwg I ofidl #1 Rigem
D. T-wa IV. et @ R
A9 o T R ¥ ¥ W B T

(1) A-L, B-II, C-MI, D-IV
(2) AL, B-1, C-IV, D-II
(3) A-IV, B-III, C-II, D-I

(4) A-II, B-1V, C-I, D-III

fr & B9 | BUT TE T

(1) S sepes Fofdl @ 7 § Wbt &)
(2) g aifed 7@ O Hiel 4 Afed A9 9 o

¥ Wl 81

g Sraei H G it 9T KT TR AR
@ wigar & gfg & € B _
o ¥ HTEY A F el B S A T
&I Ul B

3

4

A & #u R @ E

wo I: SATT SRESd O I § Sfaidd g

(4 .
o II; ST SR T B Sia Hie e fomy

e @ safafia wd fela & ¥
aqgaaﬁuﬁasmarﬁ,vﬁﬁﬁqwﬁﬁﬁ‘“
a8 T B 99T B

(1 w1 o & dfeT wom 11 9 1

@) o Fw [ 0w

(3) o wum I wa 1T orEd &

4) amlw%ﬁﬁr—lmnnm%l

ﬁwmﬂésna&hﬁraﬁwﬁﬂﬂmqehﬁﬁaﬁm’f
¥ da Ay @ Pref HE € 7

omee® o1
® =0
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186 The parts of human brajp,

4

Zoology : Section-B (Q. No. 186 to 200)

that helps in regulation
of sexual behaviour, €Xpression of excitement,
pleasure, rage, fear etc. are :

(1) Corpus callosum ang thalamus
(2) Limbic system & hypothalamys

(3) Corpora quadrigeming & hippocampus_
(4) Brain stem & epithalamys

Match List T with Lig¢ yp.
List I
Logistic
growth
Exponential
growth
Expanding
age pyralmd

List 11
Unlimited resource

’ availabilitx condition
Limited resource

availability condition
III. The percent individuals
of Pre-reproductive

age is largest followed
e by reproductive and

POst reproductive
age }c,rroups
IV. The percent individuals
— of Pre-reproductives
and reproductive age
group are same
SWer from the options

A L

B, IL

—

Stable age
pyramid

Choose the correct ap

given below:

(1) A, B-Iv, C-IL, Dy
@) AL B-1, C.1ny, D-ly

(3) A, B-I11, CL, DIv

) A, By, C-L Dar-

AT
B. wwmieh g . T{m E-“ia?s[‘ e:'tm
0. S99 g 3%
c ;“;g‘gm ' w?ﬁm
T TR
&aﬁmwm
T TR g,
T ¥\
D. Ret ag V. o e o
s Y = ¥ afrm
ﬁﬁmm
T ¥
N R ¥ ST H T
(M) Ay, BV, can, py
(nAﬂ.mGMD%I
() AT, B, ¢, Dv
@ Aq By C-, Dy
188 ﬁ%ﬁ%ﬁa%wﬁm%?
A, srht%m?qasarr&hmmmw
W\%&iﬁtﬁtm‘iﬁx%\
B. TS S 2 3 o ey g
B T T 3

(1) %= C,Dw E
(2), ¥ AT B

(3) %W B, C @ D
(4) ¥aw A,BTd E

T R T ¥ TR s 3
E. Wmmﬁﬁ%mm;'l
%ﬁqm?ﬂﬂﬁ@iﬁ%“ﬁawmw
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189 Select the correct statements with reference to

190

191

192

chordates.
A. Presence of a mid-dorsal, solid and dOUble

nerve cord.
B. Presence of closed circulatory system

C. Presence of paired pharyngeal gllls]ns
D. Presence of dorsal heart
E. Triploblastic pseudocoelomate animals.

Choose the correct answer from the opnons
given below: 0y

(1) C, D and E only :_"'“';

(2) A, C and D only '

(3) B and C only

(4) B, D and E only )

Which of the following is characteristic.feature
of cockroach regarding sexual dlmorphlsm ?

(1) Presence of anal cerci

(2) Dark brown body colour and anal cerc1

437 Presence of anal styles

(4) Presence of sclerites

Given below are two statements:
Statement I: During G, phase of cell cycle the

cell is metabolically inactive.
Statement II: The centrosome und,ergoes

duplication during S phase of interphase..
In the light of the above statements, choose the
most appropriate answer from the optlons glven

below:
Statement I is incorrect but Statement II

?

is correct.
Both Statement I and Statement II are

2)
correct.
Both Statement I and Statement II are

3)
incorrect.
(4) Statement I is correct but Statement II is

incorrect.

Which of the following are NOT under the

control of thyroid hormone?
Maintenance of water and ele;ctrolyte

A.
balance
B. Regulation of basal metabolic rate
C. Normal rhythm of sleep-wake cycle’
D. Development of immune system
E. Support the process of R.B.Cs formatlon

Choose the correct answer from the optlons

given below:
(1) D and E only
(3) B and C only

(2) A and D only"
(4) C and D only

G6_Hindi+English |
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189

190

191

192

FES F dod F v A B T

A, Ty, 3w el
B. éﬁqﬁﬁwﬁwaﬁgqﬁzzwwaﬁm
C. wElt A gftva am fost o soRay

D. Y% z3d @I SuRafy

E. s, gz 78w sl

T Ry 0 Rt ¥ ¥ shm o
(1) %=w C, D wd E =
(2) AT A, CTE D

(3) ¥a@ B ud C

(4) ¥aw@ B, Dud E

ﬁwﬁﬁaﬁaﬁﬁaﬁﬁﬁﬁm%ﬁwwmm
A ¥ ?

(1) 18T §@ @ Suffy

(2) e U R & AT TF T

(3) T & B Suikafd

(4) ®o® @ Iufafy

M & w g o ¥

Fo I: HIfT =% &1 G, ot & i surmd
= A fafepa erit ¥ '

Fy I1: YW Siareeen & S waer & fa s
2
Suger Hawl & weprel #, A w10 fawedt F 9 wh
I @1 T9F HU

(1) = I s & Aot wa= 11 & #1

2) N wuw I wd a4 B

(3) o Fy= I wd II o €|

(4) wu I 9 ¥ e w11 e &1

P & @ wTEn TCiES wTHIA & frdee § A ¥
A. < Ud A S WY B TAC T@
B. omurdg Iurqedl <T & e
C. d@R-aTH & °% B aErg @dl
D

gfercen o @t |
ST AL frafor & wipar @ dieed BT

m

ﬁ%ﬁqwﬁmﬁﬁaﬁmwmwﬁl

() ¥s@ DT E  (2) ®%a@ ATd D

3) @M Buwi C (4 ¥aw Cwd D
[Contd...



y3 Which ong_of thedfollowing is the sequence on 193 TRy = TC mRNA &7 %y e T
. corresponding coding Strand, if the sequence on ~53,

mRNA formed is as follows e . ?AUCGAUCGAUC

5° AUCGAUCGAUCGAUCGAUCG AUCG

AUCG 3°?

GAUCGAUCG AUCG
-AUCG 3’,aaﬁwﬁfaﬁ%qwmmw
g ? ‘
(1) 3’ ATCGATCGATCGATCGATCG
ATCGATCG §°

T 3 ATCGATCGATCGATCGATCG
' ATCGATCG 5°
@ 5 UAGCUAGCUAGCUAGCUA ~€2)
GCUAGC UAGC 3°
@) 3 UAGCUAGC

5> UAGCUAGCUAGCU AGCUA
UAGCUAGCUA
GCUAGCUAGC 5°

{2 GCUAGC UAGC 3’
‘ 1 (3) 3 UAGCUAGCUAGCUAGCUA
5 ' GCUAGCUAGC 5°
O A ICGATCGATCGATCG (#) 5 ATCGATCGATCGATCGATCG
. ATCGATCG 3°
The unique mammalian characteristics are: CEa : : _noa
4 (1) pinna, monocondylic skull and mammary 194 (@q Al ﬁﬂm A T a?( ¥ ?.
glands (1) woiuera, S_@EE s REIRSEII
) hairs(i tympanic membrane and mammary H2) m, o aZE foeeh ud w@w vt
plands. . C03) I, woivea we w@s it -
¢3¥ hairs, pinna and mammary glands . " ) BT R SIS .
(4) hairs, pinna and indirect development @) T, = %
195 Which one of the following is NOT an advantage | 195 {ﬁp:{ RIS @H_ SIS A ¥7?
of inbreeding? ; i"‘"(‘T) TA SATSTTT % TG q6 ST i gy
(1) It decreases the productivity of inbred TAREHA B HIar )
population, after continuous inbreeding, g HTE
(2) It decreases homozygosity. \»@3) i N w ¥
(3) It exposes harmful recessive genes that are N
eliminated by selection. :

€3) WWWWH&WW%@:

o =1 T Mremtra feg ey ¥
sﬂ%mmmﬁﬁiw-ﬁwqﬁ

%ﬁﬁw%ﬁ‘hﬁmﬂwﬁm%l

(4) Elimination of less desirable genes and 11(4)
accumulation of superior genes takes place ‘
due to it.

)
196" Which of the following statements are correct ?
A. Basophils are most abundant cells of the

total WBCs :

Basophils secrete histamine, serotonin and
heparin

Basophils are involved in inflammatory
response

Basophils have kidney shaped nucleusv
E

- Basophils are agranulocytes
Choose the correct

o 0w

SR s sRifharett ¥ aftafe e ¥
SEREE ¥ gah B omER W Fww e b

YERew ST B ¥ a1
answer from the options y T o fawe ¥ ¥ W s E[‘;'Qa E
given below: (1) daW AT B (2) Faw Bt C
(DrAand B only ( and E only {(3) A CTd E (4 FHa«
‘ (3) C and E only and C only i" S e i 5
197  Select the correct statements. = iﬁ ® Pefor agaE2 a‘ fear %mﬁ?f g
A. Tetrad formation is seen during Leptotene. iy agg p ¥ qurgHieg
B.  During Anaphase, the centromeres split and 0 = S L Ll g %3|=ra1 % agr
chromatids separate. L "R ST [Efﬁ g ol
C. Terminalization takes place during d%’ Wx\ﬁxﬁ‘nﬁfﬂ.qﬂg ﬁaﬁw
Pachytene. 'D. & aqores !
D. Nuclbe/:tolus, Golgi complex and ER are r: Sl %lm’raf“m a1
reformed during Telophase. ster o,
E. Crossing over takes place between sis

[ e.
chromatids of homologous chromosom .
Choose the correct answer from the option
iven below: |
%1) B and E only (2) ‘1: aadagdog )c’mly
9) B and D only (4) ,

G6_Hindi+English ]




198

199

200

G6_Hindi+English ]

V(Z} A and E only

In cockroach, excretion is brought about b

A. Phallic gland  B. Urecose gland ’
c. Nephrocytes D. Fat body —

E. Collaterial glands

Choose the correct answer from the options

given below:
¢1) B and D only

(3) A, B and E only
(4) B, C and D only

Match List I with List II.

List I List II
A. Mast cells I.  Ciliated epithelium
II. Areolar

B. Inner surface |

;
of bronchiole connective tissue

Cuboidal epithelium

C. Blood I11.
D Tubular parts “TV_ specialised
of nephron connective tissue

Choose the correct answer from the options give
below:

(1) A-IL B-1V, C-II, D-I

(2) A-, B, C-1V, D-III

(3) A-lL, B-IIL C-I, D-IV .

4) A-L B-I, C-IV, D-IIT

Which of the following statements aré correct

regarding skeletal muscle?
Muscle bundles are held together by

A.
collagenous connective tissue layer called
fascicle.

B. Sarcoplasmic reticulum of muscle fibre is
a store house of calcium ions.

C. Striated appearance of skeletal muscle fibre
is due to distribution pattern. of actin and
myosin proteins.

D. M line is considered as functional unit of

contraction called sarcomere.
Choose the most appropriate answer from the
options given below:
(1) C and D only
(2) A, B and C only

(3) B and C only
(4) A, C and D only

46

198

199

200

Rreraes ¥ e & F

A. ot A B. &4 tfy

C. JIwand D. 4ar fi=

E. gdwa uiual |

3 fg o e & ¥ R I w T
(1) ¥aa Bwd D

(2) % ATIE

(3) %aw A, BTIE
(4) %aw B,CTd D

g I & g0 I & | gl &0
LS T I
A, R BT L e Suse
B. sa@far & I i gaeh
- eriaft® qaE B
C. T II. 9R I
D. gFHst & Iv. fafire dar oo
AfAepTeBIT HIT _
S oo g et ¥ @ w6 oW @& 99 &

(1) A, B-1V, C-II, DI
) A, B, C-IV, D-llI
(3) AL BII, C-I, DIV
(4) A-I, B-I, C-IV, D-III

W&sﬁ%ﬁwﬁaﬁﬂﬁmﬁaﬁ%’?

A A dew A G S B I §
& ¥ frdy duge aed ¥

B i dq @ e g SR
@1 HeT{ TE &l

C. Wﬁsﬁaﬁmﬁmﬁ@ﬂqﬁm@m
W%Wqﬁw%wﬁ%l

D, e @ g @ e W T
%ﬁ,ﬁaﬂﬁu(ﬁ?f%l

ﬁﬁqwmﬁﬁammwwwﬁ'

(1) %aw Cw@ D

(2) %aw A, BT C
(3) %@ Bwd C

(4) %aw A, Cwd D
[ Contd..
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